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Question Id : 9380664113 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

The following table shows the number of students (Boys and Girls) and the percentage of girls
who passed in a 10+2 examination from six different schools (A-F) in the year 2023 and 2024.
Based on the data in the table, answer the questions that follow.
School-wise Details of Students Passing in a 10+2 examination

Year

School 2023 2024
Number of Passed|Percentage of Number of Passed[Percentage of
Students [Passed Girls Students Passed Girls

A 500 46% 550 44%

B 600 42% 640 40%

e 650 56% 560 45%

D 720 60% 800 48%

E 600 54% 840 55%

F 650 50% 750 36%

Sub questions

Question Number : 1 Question Id : 9380664114 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the average number of boys who passed in the 10+2 examination in the year 2024 from
all the six schools (A-F) together?

1.376
2.377
3.378
4. 379

Options :

93806616001. 1
93806616002. 2
93806616003. 3
93806616004. 4

Question Number : 2 Question Id : 9380664115 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of boys who passed from School A in 2023 to the number of girls
who passed from School E in the year 2023?
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Options :

93806616005. 1
93806616006. 2
93806616007. 3



93806616008. 4

Question Number : 3 Question Id : 9380664116 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

For School F, the number of boys who passed in the year 2024 is approximately % more
than that in 2023.

.42.5
.47.7
328
4.57.5

Options :

93806616009. 1
93806616010. 2
93806616011. 3
93806616012. 4

Tad [d =

Question Number : 4 Question Id : 9380664117 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The average number of girls who passed in the year 2024 from all the six schools is % of
the number of students who passed from School A in the year 2023.

1611
2,622
3.633
4. 64.4

Options :

93806616013. 1
93806616014. 2
93806616015. 3
93806616016. 4

Question Number : 5 Question Id : 9380664118 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Number of boys who passed in the examination is more than 300 in the year 2023 as well as in
2024 in only schools.

L. two
2. three

3. four
4. five

Options :

93806616017. 1
93806616018. 2
93806616019. 3
93806616020. 4



Question Id : 9380664113 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
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A 500 16% 550 44%

B 600 42% 640 40%

C 650 56% 560 45%

D 720 60% 800 48%

E 600 54% 840 55%

Ig 650 50% 750 36%

Sub questions

Question Number : 1 Question Id : 9380664114 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

vl &g faenadl (A-F) & fHd®R dgi O 9y 2024 H 10+2 G311 H Sl didd! &t 3id
e 1 82

1.376

2377

3.378

4. 379
Options :
93806616001. 1
93806616002. 2
93806616003. 3
93806616004. 4

Question Number : 2 Question Id : 9380664115 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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93806616005. 1
93806616006. 2
93806616007. 3
93806616008. 4

Question Number : 3 Question Id : 9380664116 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ﬁﬂWF%W%ﬁzﬂmﬁﬁﬂﬁWHﬂﬂwaﬁmB o 30l ddd | D1 BT Y T
%31% |

.42.5
.47.7
.32.8
4.57.5
Options :
93806616009. 1
93806616010. 2
93806616011. 3
93806616012. 4

lad g =

Question Number : 4 Question Id : 9380664117 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gy 2024 H g4t &g faeredl A 3ol aifcrdiail &t 3fiad e ay 2023 H fdeay A 9 3divf
faeniar &t e &1 % g

1. 611
26272
3.63.3
4.64.4
Options :
93806616013. 1
93806616014. 2
93806616015. 3
93806616016. 4

Question Number : 5 Question Id : 9380664118 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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|
2. diH
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4. 09
Options :
93806616017. 1



93806616018. 2
93806616019. 3
93806616020. 4

Sub-Section Number : 2
Sub-Section Id : 938066170
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 9380664119 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The role of a teacher in supporting experiential learning can't be of a/ the

1. Coach

2. Mentor

3. Tutor

4. Technology
Options :
93806616021. 1
93806616022. 2
93806616023. 3
93806616024. 4

Question Number : 6 Question Id : 9380664119 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806616021. 1
93806616022. 2
93806616023. 3
93806616024. 4



Question Number : 7 Question Id : 9380664120 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not considered as self- generated feedback?

1. Assurance

2. Previewing

3. Retracing

4. Observation
Options :
93806616025. 1
93806616026. 2
93806616027. 3
93806616028. 4

Question Number : 7 Question Id : 9380664120 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806616025. 1
93806616026. 2
93806616027. 3
93806616028. 4



Question Number : 8 Question Id : 9380664121 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the level of Bloom's Taxonomy from lower to higher order in the cognitive domain

A. Analyzing

B. Understanding
C. Applying

D. Evaluating

E. Remembering

Choose the correct answer from the options given below:

L BB AD
2B B, CA D
.E,B CD,A
4. E,B,D,A,C

Options :

93806616029. 1
93806616030. 2
93806616031. 3
93806616032. 4

Question Number : 8 Question Id : 9380664121 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806616029. 1
93806616030. 2
93806616031. 3
93806616032. 4



Question Number : 9 Question Id : 9380664122 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What among the following are known as Assessment Instruments?

A, Tests

B. Examinations
C. Rubrics

D. Worksheets
E. Quizzes

Choose the correct answer from the options given below:

1. A, B and E Only
2.B, C.D and E Only
3.D and E Only
4. A, B, D and E Only
Options :
93806616033. 1
93806616034. 2
93806616035. 3
93806616036. 4

Question Number : 9 Question Id : 9380664122 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

EfeIRad § 9 by 3fidheid &1 TIe= JH1 91T g2

A. X

B. Wilam
c. fAdzH
D. 3Hfe
E. U4l

4 few T fasb et # 1 91 SR I

1.Hdd A, B3R E
2. Hdd B, C.D3RE
3. $H3d D 3ARE
4. HAA A, B.D 3R E
Options :
93806616033. 1
93806616034. 2
93806616035. 3
93806616036. 4



Question Number : 10 Question Id : 9380664123 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

investment

LISTI LIST-II
{(Principle) {(Implication)

A Encouraging student's deep approaches | Feed back should be embedded within

" to learning objectives " |assessment practices.
B The summative and formative I Task design should be approached from

'| assessments to be learning oriented " |a program-wide perspective.
C.|Facilitating dialogic forms of feed back |III. | Greater sense of ownership by students
D Involving some personal student v A variety of assessment for student

motivation.

Choose the correct answer from the options given below:

1. A-1, B-1I, C-1II, D-IV
2. A-1I, B-1V, C-1, D-IIT’
3. A-IV, B-1I, C-III, D-1
4. A-III, B-1, C-II, D-IV

Options :

93806616037. 1
93806616038. 2
93806616039. 3
93806616040. 4




Question Number : 10 Question Id : 9380664123 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-I1, C-II1, D-IV
2. A-1L, B-1IV, C-1, D-IIT
3. A-IV, B-1I, C-III, D-1
4. A1 B-1, C-1II, D-IV

Options :

93806616037. 1
93806616038. 2
93806616039. 3
93806616040. 4

Question Number : 11 Question Id : 9380664124 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘What 1s not a Research?

1. Research is a careful and exhaustive investigation of a phenomenon with an objective of
advancing knowledge.
2. It is a systematic and objective attempt to study a problem for the purpose of deriving
general principles.
3. Research 1s based on common sense knowledge, based on the accumulated experiences and
beliefs of the people.
4. It 1s a systematic investigation to find solutions to a problem.

Options :

93806616041. 1
93806616042. 2
93806616043. 3
93806616044. 4




Question Number : 11 Question Id : 9380664124 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 | O a1 20 gl 52

1. XM 1 & IA9 b F539 ¥ {4l uftaed & Graur-iyds d f4%gd §iid gidr g,
2. U8 YA Rid FATfid 637 & 330 8 908 & 399 & fog ogaf@yd 3R

IEIRS T Il B
3. QY g9l dfd M W SUIRG gidl g, vl & dferd srqydl a fagral w snumia gidr g
4. I8 YUY & GHIYH DI Tivl 8d, YHaRYd Sid i1 g

Options :

93806616041. 1
93806616042. 2
93806616043. 3
93806616044. 4

Question Number : 12 Question Id : 9380664125 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Scientific Observations are based on

1. Verifiable evidence or systematic body of proof that can be cited.
2. Accumulated experiences
3. Prejudices
4. Beliefs of the people
Options :
93806616045. 1
93806616046. 2
93806616047. 3
93806616048. 4

Question Number : 12 Question Id : 9380664125 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a1 erur (A9 H U T R 3eTiRd gidl 82

1. TG G 18 3{4dl 3301 A Jdd DI Add b
2. Ofgd 3yg
3. JdUg
4.5 fayrg
Options :
93806616045. 1
93806616046. 2
93806616047. 3
93806616048. 4




Question Number : 13 Question Id : 9380664126 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

For different sets of datasets X and Y, correlation coefficient between X and Y, that is R and
standard deviation of X and Y, that 1s, S(X) and S(Y) are given in A-D below. Estimate the
covariance between X and Y for each dataset and arrange in ascending order.

A.R=0.5,
B.R=4/7,
C.R=4.7,

S(X)= 8,
S(X)=17,
SiX—12,

S(Y)= 10
SLY =9
S(Y)=5

D.R=19/42, S(X)=14, S(Y)=6

Choose the correct answer from the options given below:

Options :

93806616049. 1
93806616050. 2
93806616051. 3
93806616052. 4

Question Number : 13 Question Id : 9380664126 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sleel & T fiF =gl x d Y
fael 31U S(X) and S(Y) I [&Q1 AT 81 TP SIETUC 8 X 9 Y D Sid D YgUERY Bl
3Thal- HIfoIU 3R Y RIS HH H HARRUT HIfT:

A.R=05 SX)yF8 5SYr-1o
B.R=4/7, S(X=7, S(Y)=9
C.R=0.7, SXy=12, S(YyF=35
D.R=19/42, S(X)=14, S(Y)=6
I feu e fam el o 4 Ogl 3R IH:
I1.B,A.D C
2.C.BAD
3.B.D.A €
4.A,.C.D,B
Options :

93806616049. 1
93806616050. 2
93806616051. 3
93806616052. 4

o4, X d Y &1 Yg4«e 0l

U R, AR X 9 Y DI HMD



Question Number : 14 Question Id : 9380664127 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Criteria for Hypotheses construction are

A. It should describe one issue only.

B. It should describe many issues.

C. It should specify variables between which the relationship is to be established.
D. It should be specific and precise.

E. It should be empirically testable, whether it is right or wrong.

Choose the correct answer from the options given below:

1. B Only
2. A, B and C Only
3.A,C,DandE Only
4. A, B, C and D Only
Options :
93806616053. 1
93806616054. 2
93806616055. 3
93806616056. 4

Question Number : 14 Question Id : 9380664127 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Oldd el Tl gd HHES o

A. 3 $dd U HIHA DI guiH AT d1igU|

B. 39 3 HHd! &I gui- BT diigU|

c. 39 31 R $ ARy o1 Aiige SAd di Jeiey @i foar o1 g
D. 38 WY 3R YHiYd gH1 91igu|

E. 4g 3HUIdd ¥4 I Sid A1 gIH1 d1fgV 918 g Yel gl 31ydl ITcid |

4 few T fasb et # 1 91 SR I

. Hdd B
2. Had A, B 3R C
3. HId A, C,D 3R E
4. Hdd A, B, C 3R D
Options :
93806616053. 1
93806616054. 2
93806616055. 3
93806616056. 4




Question Number : 15 Question Id : 9380664128 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-1
(Concepts)

LIST-II
(Meanings)

.| Theory

Generalized representations of a system
or an object, that is constructed to some
aspects of that system or the system as a
whole.

.| Model

I

Research problem is represented by a
mathematical model.

Survey

I1I.

It is a set of systematically interrelated
propositions that explain and predict a
phenomenon or a fact.

D.

Modeling

IV.

It is a data collection technique using a
questionnaire.

Choose the correct answer from the options given below:

1. A-I, B-1I, C-III, D-IV
2. A-1IV, B-1II, C-11, D-1
3. A-IL B-III, C-IV, D-1
4. A-1IL, B-1, C-IV, D-II

Options :

93806616057. 1
93806616058. 2
93806616059. 3
93806616060. 4




Question Number : 15 Question Id : 9380664128 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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i ST 1T fdd el & U Ul 3R &1 94+ Difolu -

1. A-I, B-II, C-1II, D-IV
2. A-1V, B-11I, C-I1, D-1
3. AL B-1II, C-IV, D-1
4. A-II1, B-1, C-IV, D-II

Options :

93806616057. 1
93806616058. 2
93806616059. 3
93806616060. 4

Question Number : 16 Question Id : 9380664129 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When a person is talking to himself/ herself or contemplating or dreaming while in sleep, then

this type of communication is known as

1. Inter-personal
2. Intra-personal
3. Inter-cultural
4. Inter-national

Options :

93806616061. 1
93806616062. 2
93806616063. 3
93806616064. 4




Question Number : 16 Question Id : 9380664129 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ol Dy Aidd W@ U d1d DY g1 oidl o 34dl [Haawd H Uid 24l WY o[ Gl gidl o, di
TUUSGR HTHIR MU ST AOg.

1. Siddgfdad
2. 3d-dgfddd
3. Ui idd
4. ARPE
Options :
93806616061. 1
93806616062. 2
93806616063. 3
93806616064. 4

Question Number : 17 Question Id : 9380664130 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If the sender has not formulated the idea, thought or message in proper manner, it can result into a
barrier in communication. The barrier occurs at what level?

l. Transmission stage

2. At the end of the decoder
3. At the level of the encoder
4. Technical stage

Options :

93806616065. 1
93806616066. 2
93806616067. 3
93806616068. 4

Question Number : 17 Question Id : 9380664130 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gie Uud - [9aR, Ui 3{Udl Y& BT Yfd =0 Y F=uv) 781 fhar ¢ 1 gg YaR ¥ 3fariy
&9 9D dl 8| U8 IR fHY TR W gl Ybhdl g2

1. GaR0 IR0
2. f[adddd & 3id
3. Udhdd b TR IR
4. ddb-Tdh! TR]
Options :
93806616065. 1
93806616066. 2
93806616067. 3
93806616068. 4



Question Number : 18 Question Id : 9380664131 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As of February 28, 2025, write the highest grossing Indian films starting from highest grossing to
the lowest grossing.

A. Bahubali-2
B.RRR

C. Pushpa-2

D. KGF- Chapter 2
E. Dangal

Choose the correct answer from the options given below:

1.E.A,C,B,D

2LAB CDE

3.3 BLADEC

4.D.B,C,AE
Options :

93806616069. 1
93806616070. 2
93806616071. 3
93806616072. 4

Question Number : 18 Question Id : 9380664131 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

28 Thadl, 2025 P FRUTT TIR 9 YR fthedl T 9 S=dal ¥ g-AdH 3119 6= drcil
fOherl 1 |1 bl 182

A. 91g4dl- 2

B. AR AR AKX

C. quIT-2

D. & Sil Th- JPR 2
E. §d

4 fau v fadedt @ ¥ 9l S I
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Options :

93806616069. 1
93806616070. 2
93806616071. 3
93806616072. 4



Question Number : 19 Question Id : 9380664132 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What among the following are some media organisations?

A. Registrar of Newspaper for India (RNI)

B. National Institute of Fashion Technology (NIFT)

C. The Press Council of India (PCI)

D. Audit Bureau of Circulation Ltd (ABC)

E. University School of Mass Communication (USMC)

Choose the correct answer from the options given below:

1. B and E Only

2. Aand B Only

3. A, Cand D Only

4. A, B and C Only
Options :
93806616073. 1
93806616074. 2
93806616075. 3
93806616076. 4

Question Number : 19 Question Id : 9380664132 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

7% 7 9 PH-oH Hifsa 916 82

A. YRd & AR TF Uoidh (3R T 313)

B. AP B U] YR (TT 3175 Th )

C. YRTg UG uRug (i 3t 81iE)

D. sn%fqﬁmﬂﬁﬁmﬁ*r (T{Eﬁﬂ)

E. gHaRidl Wd 3ilth 91 b RH (g Uy Uy dh)

4 few T faab et # 1 9l SR 9

. %dd B AR E

2. Hadd A 3B

3. HAd A, C IR D

4. Had A, B3R C
Options :
93806616073. 1
93806616074. 2
93806616075. 3
93806616076. 4




Question Number : 20 Question Id : 9380664133 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LISTI LIST-II
(Films) (Year of release)
A.|Mugle Azam I. |1975
B.|Sholay II. | 1973
C.|Bobby IT1.] 1989
D.|Maine Pyar Kiya IV.[ 1960

Choose the correct answer from the options given below:

1. A-I, B-11, C-III, D-IV
2. A-IV, B-1, C-11, D-III
3. A-IV, B-1II, C-II, D-1
4. A-IIT, B-II, C-IV, D-1

Options :

93806616077. 1

93806616078. 2

93806616079. 3

93806616080. 4

Question Number : 20 Question Id : 9380664133 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y Yl ol e difsre:

e i ad
I UG SE I |1975
B.| 2 0. [ 1973
C.|didl I11.| 1989
D.| 84 WR & IV. | 1960
AId feu Y fadhetl & 4 Il SR &1 94+ Pifoll ;

1. A-1, B-II, C-IIL, D-IV
2. A-1V, B-1, C-11, D-III
3.A- IV, B-II0, C-I1, D-1
4, A-II1, B-II, C-IV, D-1

Options :

93806616077. 1

93806616078. 2

93806616079. 3

93806616080. 4



Question Number : 21 Question Id : 9380664134 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the wrong term in the series given below:
3,12, 36, 144,432, 1738, 5184

I E2
2.432
3.1738
4.5184

Options :

93806616081. 1
93806616082. 2
93806616083. 3
93806616084. 4

Question Number : 21 Question Id : 9380664134 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
5 T Teld T B Udl Td:
3,12, 36, 144,432, 1738, 5184

12

. 432
. 1738
4.5184

Options :

93806616081. 1
93806616082. 2
93806616083. 3
93806616084. 4

Tad [nd =

Question Number : 22 Question Id : 9380664135 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a certain code language ‘GERMANY" is coded as 9, 7, 20, 15, 3, 16, 27. How ‘FRANCE" will
be coded in this language?

1.7, 19.2,15,4,.6

2.8,20,30,16,5,7

3.8.20.3 16.5,.7

4.6,18,1,14,3,5
Options :

93806616085. 1
93806616086. 2
93806616087. 3
93806616088. 4



Question Number : 22 Question Id : 9380664135 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

DIdUY YN T ‘GERMANY” Dl 9, 7, 20, 15, 3, 16, 27 & U H pds [hdl 11 g dl Sugdd
YIS H ‘FRANCE’ | $U Ddg [bdl S

1.7,19,2,15,4,6

2.8,20,30,16,5,7

3.8,20,3,16,5,7

4.6,18,1,14,3,5
Options :

93806616085. 1
93806616086. 2
93806616087. 3
93806616088. 4

Question Number : 23 Question Id : 9380664136 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The interest earned on ¥ 8000 when invested in some scheme for 2 years at 7 % simple interest,
per annum is half of the interest earned on another amount P invested for five years in the same
scheme at the same rate of interest. Find the value of P.

1. 26200
2.26000
3.36400
4. 5000
Options :
93806616089. 1
93806616090. 2
93806616091. 3
93806616092. 4

Question Number : 23 Question Id : 9380664136 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

el Ao H 2 9y & oY ufday 79 & AIURYI s416 UR (A= &1 115 Y-RIET 2 8000 UR 3ol
ST 34T AISHTH 5 94 & o7 39 o191 &3 UR 1R &1 715 319 Y=RI2 P WR 3{fold sI1o] Bl
31T g | <l 4RI P 1 Hed A DI |

1.2 6200
2.26000
3.36400
4.2 5000

Options :

93806616089. 1
93806616090. 2
93806616091. 3
93806616092. 4



Question Number : 24 Question Id : 9380664137 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statement(s) is/are true?

A. Speed of x m/sec is equal to x% km/hr.

B. If a train runs at E of its usual speed, it gets late by 10 minutes. The usual time of the train to

6
cover the journey is 40 minutes.

: ; 2
C. A car moves at the speed of 80 Km/hr. The speed of the car in meters per second is 22 5

D. A person crosses a 600 m long street in 5 minutes. The speed of the person in Km per hour is
T2

Choose the correct answer from the options given below:

1. A, B and C Only
2. Aand B Only
3.B, C and D Only
4. C and D Only
Options :
93806616093. 1
93806616094. 2
93806616095. 3
93806616096. 4



Question Number : 24 Question Id : 9380664137 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 3 ®H WA $YF I8l 82

A.xlﬂ.fﬁ.aﬁﬁﬁx%%ﬁﬂ%%w%

B.Uﬁﬁémaﬁﬂmﬂﬁésgwﬁm%aﬁgﬁ 10 e I g gl

3 I DI R B T YS! bl JEdT 40 [ &1 Y9 I gl
c.qaaar{saﬁ.m,.-ﬁ%aﬁrrm@aam%lwﬁnﬁmﬂauﬁmﬁng R

D.W?ﬁﬁﬂﬂ%ﬁﬁﬁﬁﬁ%ﬁ@ﬂ%l 39 HAfdd &1 7id fb. A ufd g |
125l

-4 feu e fad et # 4 Ul SR I

1. $dd A, B3R C
2. Had A 3R B
3. HId B, C 3R D
4. ®ad C 3R D

Options :

93806616093. 1
93806616094. 2
93806616095. 3
93806616096. 4

Question Number : 25 Question Id : 9380664138 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A person takes a loan of ¥ 5000 at 5% simple interest. He returns ¥ 3000 at the end of one year.
How much he would have to pay, in order to clear his dues, at the end of 2 years?

1. ¥ 2450
2.%2500
3.% 2350
4. %2400

Options :

93806616097. 1
93806616098. 2
93806616099. 3
93806616100. 4



Question Number : 25 Question Id : 9380664138 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

D5 Aldd 5% TTHURU] &S U BT oidl ¢ | 98 UP gy €1G 34 2 3000 dleldl gl 2 9y & 3
o 3Y ¢ 44 IbH o T fha-t ¢=RIR &1 gl

1.3 2450
2.22500
3. 3235
4.7 2400
Options :
93806616097. 1
93806616098. 2
93806616099. 3
93806616100. 4

Question Number : 26 Question Id : 9380664139 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which fallacy is committed in the following statement- "I can expect that you would not find any
moral issue in making abortion illegal, since your ability to feel sympathy for the rights of
women in general is very limited?

1. Begging the question
2. Ad Hominem
3. Hasty generalisation
4. Slippery slope
Options :
93806616101. 1
93806616102. 2
93806616103. 3
93806616104. 4



Question Number : 26 Question Id : 9380664139 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ffifad ou H B9 ddhaly e g-
T} ST B Febell g b MU Bl TR BT S4H H 3MUD] S fdd Tl S, Hifd
Afgar3 & MUHRI & o7t UgHUIT HggH B Bl UD] &N MR WR 9gd HifHd g7

1. ATHIYI N
2. Hfdd TR 3THTd
3, AR GHHRT

4. T Oe1gad eaH

Options :

93806616101. 1
93806616102. 2
93806616103. 3
93806616104. 4

Question Number : 27 Question Id : 9380664140 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent?

A. No soaps are writing-tools.
B. All soaps are non-writing-tools.
C. No non-writing-tools are soaps.
D. No writing-tools are soaps.

Choose the correct answer from the options given below:

l. Aand D Only
2. A, B and D Only
3.B and C Only
4. A and C Only

Options :

93806616105. 1
93806616106. 2
93806616107. 3
93806616108. 4



Question Number : 27 Question Id : 9380664140 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fAafefad § O - A oyF difde =P O gaH g2

A. Dl I I TaH-3UHR01 g1 BT g |

B. Tl W TR SUHR0 Bld ¢ |

C. Dis Yl TR-G4 IUDH0 HIg- g1 g g
D. ®ls i oG- SUBRU Ui =gl gldl g

fid feu g fasbedl # 1 91 Sk I

1. $dd A 3R D
2. %had A, B 3R D
3. HIAB AR C
4. HAd AR C

Options :

93806616105. 1
93806616106. 2
93806616107. 3
93806616108. 4

Question Number : 28 Question Id : 9380664141 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following propositions are so related that they cannot both be false, though they can
both be true?

A. Some poems are artworks.

B. All poems are artworks.

C. Some poems are not artworks.
D. Some artworks are poems.

Choose the correct answer from the options given below:

1. Aand D Only
2. Aand C Only
3.B and C Only
4. A and B Only
Options :
93806616109. 1
93806616110. 2
93806616111. 3
93806616112 4



Question Number : 28 Question Id : 9380664141 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fafaRad 7 9 oiA- ufagftaal 39 veR d&6fid § fb d gHf s/ A8l gl Uadl, graifd d
&Il 9 g1 gddl g2

A. DS DA DeAlpiddl gl o
B. Yl Hiqa1l Herpiaai gidi g
C. S biddil defipfadl g1 gidi g
D. $S HdIDiadl Hiddrd gidl g1

1< fau v fadedt @ € Tl ST I

|.Hdd A 3R D
2. Had AR C
3. HadB AR C
4. had A 3R B
Options :
93806616109. 1
93806616110. 2

93806616111. 3
93806616112. 4

Question Number : 29 Question Id : 9380664142 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following terms in order of increasing denotation.

A. Chess
B. Board games

C. Sports
D. Indoor games

Choose the correct answer from the options given below:

B, ¢, D

-

1. A
A
3L
4. A,

m"t:u
oW P
A > w

Options :

93806616113. 1
93806616114. 2
93806616115. 3
93806616116. 4



Question Number : 29 Question Id : 9380664142 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

F4feiRad Ug &l d¢d 9¥add & HH H 4afyd HIfI:

A. QA
B.dle 1R

C. gdda
D. 3SR IH]

fid feu g fasbedl # 1 91 Sk I

1.LA.B,C.D

2.C,D.A.B

3.C,D,B,A

4.A.B,.D,.C
Options :

93806616113. 1
93806616114. 2
93806616115. 3
93806616116. 4

Question Number : 30 Question Id : 9380664143 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"The world is an effect and hence it must have an efficient and intelligent cause. That efficient
and intelligent cause is God." Which means of knowledge is used in this argument as per classical
Indian School of Logic (Nyaya)?

1. Perception

2. Inference

3. Analogy

4. Verbal authority
Options :
93806616117. 1
93806616118. 2
93806616119. 3
93806616120. 4



Question Number : 30 Question Id : 9380664143 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

«fd% U gRUMY g 3R Ul 3UYDT Balldigd 3R difGd HRU GHI dIfgU| dg bhldiGdh
IR difgD RIS g~ 29 Yidd T Ui YR Th AR U (A1) & 3R IHE & [y
T4 DT U fhdT Siidl g2

1. Ucde

2. 3FHH
3. 3UHH

4. HIRGD I

Options :

93806616117. 1
93806616118. 2
93806616119. 3
93806616120. 4

Question Number : 31 Question Id : 9380664144 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In ., each communicating device is connected with every other device in the computer
network.

1. Star topology
2. Mesh topology
3. Bus topology
4. Ring topology

Options :

93806616121. 1
93806616122. 2
93806616123. 3
93806616124. 4



Question Number : 31 Question Id : 9380664144 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o Y1 UaH b didl Ydd UBIV h ek "cdd H Ydd 34 FUDHRUI Y F3
I gl
1. %R elgrdsi!
2. HY eglaiel

3§ cIgdroil
4. T1 <rarErsh

Options :

93806616121. 1
93806616122. 2
93806616123. 3
93806616124. 4

Question Number : 32 Question Id : 9380664145 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a web browser?

1. Opera
2. Safari
3. Firefox
4. Google
Options :
93806616125. 1
93806616126. 2
93806616127. 3
93806616128. 4

Question Number : 32 Question Id : 9380664145 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FEfRId H U S -1 99 3SR Tol o2

4. 70T

Options :

93806616125. 1
93806616126. 2
93806616127. 3
93806616128. 4



Question Number : 33 Question Id : 9380664146 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the sequence of appropriate words A-D that correctly fills the blanks in the following
paragraph:

Radio Identification Systems use radio waves to read and capture information stored on a
tag, which can be read from several metres away. The is made up of a(n) to store
and process data, and a(n) to receive and transmit data.

A. tag

B. frequency

C. antenna

D. microchip

Choose the correct answer from the options given below:

Options :

93806616129. 1
93806616130. 2
93806616131. 3
93806616132. 4



Question Number : 33 Question Id : 9380664146 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A@gﬁﬂ?%ﬂ?éﬂ@%ﬁuﬁdw&ﬁmﬁqﬁﬁaﬁfﬁmmﬁﬁﬂﬁwﬁﬁﬂﬁ
Y H HRI 11 6

bl 71 & U Hd G131l Bl UeH 3R UItd & & feru fsal 3EefefhdaH

e 7 XS daq &1 ygi fhar SIdr g, fofg o Al RUUgI S adbdigl 98 sal
aﬁrﬂaﬁmﬁahwéwmaﬂﬁa?m_ﬁwéaﬂ?éaﬁwaﬂﬁﬁwﬁﬂaﬂﬁé?

fu  gegl

i feu T fadm el O 9 IEl SR IH:
1.B,D. A, C
2.C,A.D.B
3B A D C
4. A.C.,B.D
Options :

93806616129. 1
93806616130. 2
93806616131. 3
93806616132. 4

Question Number : 34 Question Id : 9380664147 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of following statements are correct?

A. Worm can be hardware and software.

B. Cookies are used to store browsing information.

C. Sandbox detection 1s malware identification method.
D. HTTP has better security than HTTPS.

E. Trojan is an antivirus.

Choose the correct answer from the options given below:

1. A, B and C Only
2. C and E Only
3.B and C Only
4. B and D Only
Options :
93806616133. 1
93806616134. 2
93806616135. 3
93806616136. 4



Question Number : 34 Question Id : 9380664147 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ffiRad § U HIH-U &Y Ud g2

A. 90 EE AW 3R T dWR gl Gbhd g |

B. SIS SAHBR] T HSRU B & 61U pabls T Wl fbar Siidi g |
C. YT DI G&1, HITaaR Ugd &3 & U4d o

D. T & A 0 H ua & & Ol T U AR YRan g

E. TISH U USRI ¢ |

-4 feu e fas et 7 4 Ul SR I

. HAd A, B3R C

2. Had C 3ARE

3. hadB AR C

4. HAd B 3R D
Options :
93806616133. 1
93806616134. 2
93806616135.3
93806616136. 4




Question Number : 35 Question Id : 9380664148 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LISTI LIST-II
(Recognition System) {Application)

A.|MICR I. |Reading the car number plates
Capturing product information so that it

B.|OCR I1. |can be added to the customer's purchase
total

c lomr I Reading the numbers found on a bank
cheque

D | Barcode Reader v Reading mark.s written using pencil or
pen on a specially printed paper.

Choose the correct answer from the options given below:

1. A-1V, B-1, C-1II, D-II
2. A-II, B-1, C-IV, D-III
3. A-IIL, B-1IV, C-1, D-II
4. A-II1, B-1, C-IV, D-1II

Options :

93806616137. 1
93806616138. 2
93806616139. 3
93806616140. 4




Question Number : 35 Question Id : 9380664148 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

g1 %d;r-u
A.|TH 313 1 3R I [®RI B TR &iel & ygHl
UISde Gael Y-l ured -1 i 28
B.| 3l 3R IL. |UTgeh] & i Wlq fearet & =miAd b
ol b |
fplt db & 9 WR T3 ol areil
C.| 3 e 3 U et B ue
| ofE ar U &1 uanT o ARy S0 g
D. RIS A =i Hfed HHTS U ford 71U fagl &1 g
+id faU T f[adetl # § Ul IR &1 989+ Hifolg ;

1. A-IV, B-1, C-III, D-II
2. A-11, B-1, C-IV, D-III
3. A-IIL B-1IV, C-1, D-II
4. A-IL, B-1, C-IV, D-II

Options :

93806616137. 1

93806616138. 2

93806616139. 3

93806616140. 4




Question Number : 36 Question Id : 9380664149 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the correct sequence, from initial to final, of blue baby disease, methemoglobinemia. in
human infants?

A. Conversion of nitrate 1ons to nitrite ions by microorganisms in human body
B. Oxidation of ions from Fe(II) to Fe(III) in hemoglobin by nitrite ions.

C. Consumption of nitrate polluted water

D. Forming of abnormal hemoglobin called methemoglobin

Choose the correct answer from the options given below:

,B,A, D
¥ AB
. D,
i,

PP 00
OOt

1
2
3.
4

t.UU:lU-T-'

: a

Options :

93806616141. 1
93806616142. 2
93806616143. 3
93806616144. 4

Question Number : 36 Question Id : 9380664149 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ATa el o o sl AT, BYArEIfS-Ea & URY 9 ddhR 3ifdH dd &1 gl hH 182

A. M9 YRR T & Siidl gRIAECC 399 Sl AEI3e -4 § Sl
B. AIZCI3¢ Y §RI SIARAITaT T Fe(1I) T Fe(I1D) T - DI JHTRIIHR0T
C. A13¢eugi¥id sid &l 3UgHI

D. HAAFcle AHd SR gaiiie ol fHafor

4 fau v fadedt @ ¥ gl S I

1.C,B.A,D

2.C,A B, D

3.A,D,B . C

4. A.C,B,.D
Options :

93806616141. 1
93806616142. 2
93806616143. 3
93806616144. 4



Question Number : 37 Question Id : 9380664150 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Electrostatic Precipitator is used in Thermal Power Plants to remove which of the following air
pollutants?

1. Polycycli Aromatic Hydrocarbons
2. Gaseous Pollutants

3. Fly ash

4. Volatile Organic Compounds

Options :

93806616145. 1
93806616146. 2
93806616147. 3
93806616148. 4

Question Number : 37 Question Id : 9380664150 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRad ® U foy 9 Uy &I g & (61U a9 f9aga Sl #, fRR 98gd a8 &,
T fhar STl g |

1. gifcr g dell WIAR® gEgidhe-a
2. 1Y UgNd
3. Tellg U
4. IMYIRIE SIq gifild
Options :
93806616145. 1
93806616146. 2
93806616147. 3
93806616148. 4



Question Number : 38 Question Id : 9380664151 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-IT
(Types of water pollutant) (Example)
A.|Disease Causing Agent I. |Fine particles of clay
B.| Oxygen Consuming Waste II. |Coliform Bacteria
C.|Plant Nutrient III. | Animals and Plants in aquatic habitat
D.| Suspended Solids IV. [Phosphorous

Choose the correct answer from the options given below:

1. A-II, B-III, C-I, D-IV
2. A1, B-IIT, C-IV, D-1
3. A-l, B-1I, C-III, D-1IV
4. A-1, B-1I, C-IV, D-III

Options :

93806616149. 1

93806616150. 2

93806616151. 3

93806616152. 4

Question Number : 38 Question Id : 9380664151 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y Yl ol e difsre:

a1 a1
GEEFLERCIL) (SITEXT)
A.[JTTSS Hid (Teie) I |-t gl & uishd o
B. | 3fiqdTol SUHITHRT Uiy 11 |IfcThid SHar] (st
C.|Urey Uyiyd 111 | Sfeiid gafarg 3 i 3R giel
D. | Udifad ®U1 (G SS Hifers) IV. |G RBRY
fId feu ¢ fadedl & U Igl Sk &1 98 BT :

1. A-II, B-III, C-L, D-IV
2. A-I1, B-III, C-IV, D-I
3. A-1 B-II, C-II1, D-IV
4. A-1, B-II, C-IV, D-III

Options :

93806616149. 1

93806616150. 2

93806616151. 3

93806616152. 4



Question Number : 39 Question Id : 9380664152 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I
(Waste water treatment process)

LIST-II
(Explanation)

A.|Ozonation

Removal of excess ion and manganese

B.| Aeration II. |Removal of large solids
C.|Flocullation I1I. | Disinfection
.| Seresniiis v Very small particles are clustered

together

Choose the correct answer from the options given below:

1. A-IIT, B-1, C-IV, D-1I
2. A-II, B-1, C-1I, D-IV
3. A1, B-III, C-II, D-IV
4. A-1V, B-1I, C-1I1, D-1

Options :

93806616153. 1
93806616154. 2
93806616155. 3
93806616156. 4

Question Number : 39 Question Id : 9380664152 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i1 & 1Y Y11 D1 e Hifoie:

(mm@ﬁnm (%?'\'SD
A.| ISTHI®RT 1. |l g HarS 3 ¥l @l geH
B.|drad 1L |§3 319 Bl geHl
C.|3vH 1L | faeh AU
AREAIEY] IV. [ ercfeicr oy Ul 1 U 1Y T[=d
I feu T fam el & 9 Gl 3R &I 99 Piforu ;

1. A-III, B-1, C-IV, D-II
2. A1, B-I, C-11I, D-IV
3. A-1, B-TII, C-II, D-TV
4. A-1IV, B-11, C-III, D-1

Options :

93806616153. 1

93806616154. 2

93806616155. 3

93806616156. 4




Question Number : 40 Question Id : 9380664153 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the correct increasing order of U-235 (fissile uranium) ratio in following?

A. Natural Uranium

B. Uranium Ore

C. Weapon grade uranium
D. Reactor grade uranium

Choose the correct answer from the options given below:

Options :

93806616157. 1
93806616158. 2
93806616159. 3
93806616160. 4

Question Number : 40 Question Id : 9380664153 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 1 G235 (fads-ia @fgw) siqurd &1 9l 949 od | g2
A. Ui fdd RiFaa

B. 3qeh
C. 4SS Wiy
D. Ruaex 93 gy
i feu g faabedl § T Ul SR 9
I.B.AC D
2.B,A.D,C
3D, CAB
4.D.C,B.A
Options :

93806616157. 1
93806616158. 2
93806616159. 3
93806616160. 4



Question Number : 41 Question Id : 9380664154 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are four guiding principles in the development of higher education in
India?

1. Access, Authority, Equity, Equality

2. Accountability, Based on freedom, Access, Free

3. Access, Equity, Accountability, Equality

4. Assessment, Equality, Affordability, Research Oriented

Options :

93806616161. 1
93806616162. 2
93806616163. 3
93806616164. 4

Question Number : 41 Question Id : 9380664154 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR H IdcR 1281 & [dH™ & 6l ®IF U IR Ariagie g g2

1. Ugd/ Gl WD R, 98dT (3fedl), GHH

2. SREIRd, WA, Yl 3R - Yedbdl W 31eid
3. YT, GHAT, SR, GHH]

4. 3o, YA, I, JMY-349

Options :

93806616161. 1
93806616162. 2
93806616163. 3
93806616164. 4

Question Number : 42 Question Id : 9380664155 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The full form of AICTE is

1. Academic Institutions Council of Teacher Education
2. All India Council for Technical Education
3. All India Constitution for Teacher Education
4. All India Institute for Teacher Education
Options :
93806616165. 1
93806616166. 2
93806616167. 3
93806616168. 4



Question Number : 42 Question Id : 9380664155 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U. 312, Il €. 2. (AICTE) &1 QU &4 1 g2

1. b SHd TR DS 3HIh SR Tbh R
2. 3 =41 HI3el BR THIbd T
3. 3Td] ST BT BR Sl USdhH

4. 3{Tcl 331 ST BR R T2

Options :

93806616165. 1
93806616166. 2
93806616167 3
93806616168. 4

Question Number : 43 Question Id : 9380664156 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following components in the context of “Effective Learning Environment”.

A. Continuous Formative Assessment

B. Adequate Students Support

C. Appropriate Curriculum

D. Engaging Pedagogy

E. Providing suitable resources and infrastructure

Choose the correct answer from the options given below:

5P SO S

2B AC BE

3.C,D,A. B.E

4. A,B,C.D,E
Options :

93806616169. 1
93806616170. 2
93806616171. 3
93806616172. 4



Question Number : 43 Question Id : 9380664156 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"gUTAT ST AraraRul & GG # FYfciRad gedh! (A- E) & Ul HH H @ge

A. Tdd FETES 3dhad
B. B[ &l UgIw gHdq
C. JgfId ureaaai

D. Yeidrguf fRrefurRre

E. 3G Y14 3R YR-Yd Bl UG HAT
1< fau v fadedt @ € Tl ST I

E B A G
B.A C D,
C,D.A,
A B, C,
Options :

93806616169. 1
93806616170. 2
93806616171. 3

93806616172. 4

rollvs Mz W)

I Led D =

D
B,
D

¥

Question Number : 44 Question Id : 9380664157 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the Buddha Period, which educational centres were established along with monasteries?

A. Ballabhi

B. Baba Mastnath University
C. Nalanda

D. Vikramshila

E. Taxila

Choose the correct answer from the options given below:

1. B, C and E Only
2. A, B, Cand D Only
3.A,C,DandE Only
4. B, D and E Only
Options :
93806616173. 1
93806616174. 2
93806616175. 3
93806616176. 4



Question Number : 44 Question Id : 9380664157 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

- DId H, Ha! b U1y, DI Y RUefl-dg w1iUd fdbu 1w &

A. deaiHl

B. 9191 TRa1Y fayfaeed
C. dld-al

D. famaAfren

E. d&fRrel

1< fau v fadedt @ € Tl ST I

|.Hdd B, C 3R E
2. HAd A, B, C 3IRD
3. Hdd A, C,D 3R E
4. $Had B, D3R E
Options :
93806616173. 1
93806616174. 2
93806616175. 3
93806616176. 4

Question Number : 45 Question Id : 9380664158 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-II
(Author) (Area)
A.|Sankara I. | Vedanta Sutras
B.|Ramanuja I1. | Algebra and Astronomy
C.| Vidyapati III. | Dialect of Behar
D.|Bhaskara IV. | Vedanta Sutras and the Bhagavatgita

Choose the correct answer from the options given below:

1. A-I. B-II, C-IIL, D-IV
2. A1V, B-1, C-III, D-II
3. A-IV, B-1IL. C-II, D-1
4. A-1, B-III, C-IV, D-1I

Options :

93806616177. 1

93806616178. 2

93806616179. 3

93806616180. 4



Question Number : 45 Question Id : 9380664158 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

ﬁ—uﬂ_l 1T
(GLCED) (ewa-g=
A [HDRI L |dal=- g4
B. [JH 11 |SfISHTIONT 3R iy
c.|faemafa 1L |fSIgR &l Sicil
D.|HRaR IV. | d&TT 9 3R WiTdg Hidl
i T Y fasedl § ¥ Ugl 3wk &l 984 Dol :

1. A-1, B-II, C-II1, D-IV
2. A-1V, B-1, C-I1I1, D-II
3. A-IV, B-II1, C-I1, D-1I
4. A-1. B-III. C-IV, D-1I
Options :
93806616177. 1
93806616178. 2
93806616179. 3
93806616180. 4
Sub-Section Number : 3
Sub-Section Id : 938066171
Question Shuffling Allowed : No



Question Id : 9380664159 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

Read the following passage carefully and answer the questions:

The capitalist system of society does not foster healthy relations among human beings. A few
people own all the means of production and others-though nominally few have to sell their labour
under conditions imposed upon them. The emphasis of capitalism being on the supreme
importance of material wealth the intensity of its appeal is to the acquisitive intensity. It promotes
worship of economic power with little regard to the means employed for its acquisition and the
end that it serves. By its exploitation of human beings to the limits of endurance its concentration
is on the largest profit rather than maximum production.

Thus the division of human family is done on the basis of economic circumstances. All this is
injurious to division of human dignity. And when the harrowed poor turn to the founders of
religion for succour, they rather offer a subtle defence of the established order. They promise
future happiness for their present suffering and conjure up visions of paradise to redress the
balance to soothe the suffering and the revolt of the tortured men. The system imposes injustice,
the religion justifies it.

Sub questions

Question Number : 46 Question Id : 9380664160 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

After going through the passage, it can be inferred that the capitalist system is

1. Ambitious

2. Biased

3. Humane

4. Realistic
Options :
93806616181. 1
93806616182. 2
93806616183. 3
93806616184. 4

Question Number : 47 Question Id : 9380664161 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The maximum control over the means of production is under

1. All the stake holders
2. Proletarial class
3. Owners of the system
4. Working class

Options :

93806616185. 1

93806616186. 2

93806616187. 3

93806616188. 4

Question Number : 48 Question Id : 9380664162 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

In a capitalist system,

1. the ends justify the means
2. the means justify the ends
3. the means leading to exploitation are strictly prohibited
4. the religion decides the issue related to the means
Options :
93806616189. 1
93806616190. 2
93806616191. 3
93806616192. 4

Question Number : 49 Question Id : 9380664163 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Capitalism is detrimental to equality as it divides the society into the groups, namely,

1. Working and non-working
2. Buyers and Sellers
3. Exploiters and Exploited
4. Religious and Atheist
Options :
93806616193. 1
93806616194. 2
93806616195. 3
93806616196. 4

Question Number : 50 Question Id : 9380664164 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The capitalist system focuses on

1. Maximum production
2. Unusual benefits
3. Investment on human resources
4. Reduction of expenditure
Options :
93806616197. 1
93806616198. 2
93806616199. 3
93806616200. 4



Question Id : 9380664159 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

fFrafafEd i o geyHEe ufer 9 39@ a1e 1 e uHl & 3R difve:

TSl &1 Yollare] el T8 & dld W He¢f 1 uiyor 981 Sl g1 9gd 4TS arl

I & Ui el & W gid § 3R 30 I 91 0 & ol o3 i W6d WR Il 1
Trdl & 37efiH 3G 41 Afdd i ST USdl g1 djdb uitare o1 SR Hifdd Huel & di=
HewW R Tidl ¢ SUfaU 3uat 3fict i digaT Ssi-eied diad &1 2R gict 81 78 2
fdd $1 SURHT I @161 &l § 3R 3UD 36l b [y FAISIg WreEl R dls &H ol odl o
3R I8 & gfd Bl 9¢1d1 &l 8 | AHar UgH-Riieldl B avd HiF1 ddb J%1 & 39 Nl
Y, 2T Y50l 3HTH JdIG W A glb Ydiitih GATth TR gIdl g

3{d: A9 URGR &1 fquTei 3ifde RRyfd & YR W fhdl Srd1 81 U8 9d AFd TR 6
U & fOIU BTN RS g1 3R S/ Idiiad M- Tgradl & 61U 4H & TRIUH] DI 3R
gadl g, di d I a1 &I dTelldbl Yddb &dld dd g1 d 34db dadH gl & ferg Urdt
Ydl &1 a9 Gd g SR G T & §:@ d [dglg IR gegH a7 $HR Yo &Y 3@ 8
a7 &1 HRATSITe §d g | SHd¥dT 301 YUl g 3R & 34 3Id sgidi gl

Sub questions

Question Number : 46 Question Id : 9380664160 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T2 Bl Ug o U4Id Ug by Adbiell & Udbdl ¢ fob Yollard] saqey

1. Hgardhiel g
2. UUTayUl §
3. HHFdIO g

4. 9YIIRE g

Options :

93806616181. 1
93806616182. 2
93806616183. 3
93806616184. 4

Question Number : 47 Question Id : 9380664161 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

JdTeA & 18 IR HHaH [0 99 1 9 fdhads 31l gidr g2

1. g fgduR®

2. GdgRI &

3. T o WHl

4. YD af
Options :
93806616185. 1
93806616186. 2
93806616187. 3



93806616188. 4

Question Number : 48 Question Id : 9380664162 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Goilarel oaqeur §
1. T FIEH D S ST 5
2. Te 1ed 1 3 ad )

3. QY B 3R o Sl alcd T8 dals & 91y Hitg g
4. TIEET Y Weifed fawyl &1 (v 4 vdl g

Options :

93806616189. 1
93806616190. 2
93806616191. 3
93806616192. 4

Question Number : 49 Question Id : 9380664163 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Usilare SHHdT & Uid giHeR® ¢ difd 98 YA & FY &l 9ggi d fauSa s carg

1. B & alcl d HI A B dldd
2. ol d fadbal

3. QM9 g 2Nd

4. U@ 9 A1Rd®

Options :

93806616193. 1
93806616194. 2
93806616195. 3
93806616196. 4

Question Number : 50 Question Id : 9380664164 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Uuitard] saaqwyr (9§ ¥ ¥ IR di<d Hdl 82

1. HfhaH IdIGH
2. UTH <Y
3. A9 Ig1eE! o [Haer
4. g H HHI
Options :
93806616197. 1
93806616198. 2
93806616199. 3
93806616200. 4



Public Administration

Section Id : 93806658
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 938066172
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 9380664165 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following thinkers has divided the scope of Public Administration into principles
of Public Administration and sphere of Public Administration?

1. Henri Fayol

2. PM. Queen

3. Piffiner

4, Marshall E. Dimock

Options :

93806616201. 1
93806616202. 2
93806616203. 3
93806616204. 4

Question Number : 51 Question Id : 9380664165 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FEfaRad § U fod fdad 3 did YA & &3 &I did UIRH & [R<id 3R did U &
SRR H fguiierd foan g2

1. 3 e

2. Ul gH. @i

3. fofR

4 "I 5. fsAI®
Options :
93806616201. 1
93806616202. 2
93806616203. 3
93806616204. 4



Question Number : 52 Question Id : 9380664166 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In an organization, if a superior coordinates with his subordinates and vice - versa is known as:

1. Perpendicular coordination
2. External coordination

3. Horizontal coordination

4. Supplementary coordination

Options :

93806616205. 1
93806616206. 2
93806616207. 3
93806616208. 4

Question Number : 52 Question Id : 9380664166 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ot Tire |, afc IR/ Uar g A=l T 3rar 3fefiAy 3+ aiyy UaR U A9 &
g, 1 33 Sl 9IIdl g2

1. TEaq 999
2. digl ¥4H-9Y
3. &fcofla ga-ag
4. R gAY
Options :
93806616205. 1
93806616206. 2
93806616207. 3
93806616208. 4

Question Number : 53 Question Id : 9380664167 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following works fall in the first phase of the evolution of the discipline of Public
Administration?

1. Papers on Science of Administration
2. Politics and Administration

3. The Administrative State

4, Administrative Behaviour

Options :

93806616209. 1
93806616210. 2
93806616211. 3
93806616212. 4



Question Number : 53 Question Id : 9380664167 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

?ﬁ%ﬁﬁﬁﬁﬁ%w%m%aﬁw%um TRUT b fAfd 3l

1. U0 3 9129 {1 TS
2. Ulfeifedy U8 TsHfweH
3. fd usffedfead we
4. Tsthfefeq fagfaar
Options :
93806616209. 1
93806616210. 2
93806616211. 3
93806616212. 4

Question Number : 54 Question Id : 9380664168 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘What is the duration of the Foundation course for Civil Services at the Lal Bahadur Shastri
National Academy of Administration?

1. Four Months

2. Six Months

3. Nine Months
4. Twelve Months

Options :

93806616213. 1
93806616214. 2
93806616215. 3
93806616216. 4

Question Number : 54 Question Id : 9380664168 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

dilel Sg1gY ARl BT U= i H Rifda darsil & ferg brd S uisashH o
PIaTdY 1 82

1. dIX Hlg
2. 9¢ Hig
3.4 A8
4. d¥g Hig
Options :
93806616213. 1
93806616214. 2
93806616215. 3
93806616216. 4




Question Number : 55 Question Id : 9380664169 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following tyvpe of Authority is based on respect to customs, past practices and

beliefs according to
Max Weber?

1. Charismatic Authority

2. Traditional Authority

3. Legal-Rational Authority
4. Theocratic Authority

Options :

93806616217. 1
93806616218. 2
93806616219. 3
93806616220. 4

Question Number : 55 Question Id : 9380664169 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U deR & 3HUR ISR &1 HARGd § ¥ B4 UbR gred, gRi il iR [yl &
i T TR 3T 82

1. ST UEHR
2. [RITd UMY hR
3. fal¥®. difed UIiHR
4. YHIATHSD UIYDR
Options :
93806616217. 1
93806616218. 2
93806616219. 3
93806616220. 4




Question Number : 56 Question Id : 9380664170 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Elton Mayo, one should not turn out too little work. If one does, he is a

1. Rate buster
2. Squealer

3. Chesler

4, Worthless

Options :

93806616221. 1
93806616222. 2
93806616223. 3
93806616224. 4

Question Number : 56 Question Id : 9380664170 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Wﬁ?%m.%ﬁwﬁaﬁﬁmaﬂ%ﬂmﬁaﬂﬁmméﬁﬁ
B

1. 3¢ 98X

2. W5 R

3. dolei’

4. HgdgH
Options :
93806616221. 1
93806616222. 2
93806616223. 3
93806616224. 4

Question Number : 57 Question Id : 9380664171 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Chris Argyris has been called as father of

1. Organizational Learning
2. Psycho —Social aspects of Management
3. Participative management
4. Supervisory Styles
Options :
93806616225. 1
93806616226. 2
93806616227. 3
93806616228. 4



Question Number : 57 Question Id : 9380664171 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

by SFTIARY Bl &1 TUdl/ S dhgl T g |

Options :

93806616225. 1
93806616226. 2
93806616227. 3
93806616228. 4

Question Number : 58 Question Id : 9380664172 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following prakritis of Saptanga Theory of Kautilya was referred to the territory and
population?

1. Swamin
2. Mitra
3. Durga
4. Janpada

Options :

93806616229. 1
93806616230. 2
93806616231. 3
93806616232. 4

Question Number : 58 Question Id : 9380664172 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

@%wmﬁmﬁ@wmmmmmﬁw
GGG

1. %l

2. fim

3.G1

4. SFUG
Options :
93806616229. 1
93806616230. 2

93806616231. 3
93806616232. 4



Question Number : 59 Question Id : 9380664173 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following Article of the Constitution of India is related to the powers of the
President to consult Supreme Court of India?

1. Article 140
2. Article 141
3. Article 142
4, Article 143

Options :

93806616233. 1
93806616234. 2
93806616235. 3
93806616236. 4

Question Number : 59 Question Id : 9380664173 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YRA & Hiayr &1 Aafafad 0 9 o191 3w YR & Sdd Aied U TR 6 @
P B a9 Feifdrd g2

1. 3G 140
2. 3G 141
3. 3G 142
4. TG 143

Options :

93806616233. 1
93806616234. 2
93806616235. 3
93806616236. 4

Question Number : 60 Question Id : 9380664174 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following appoints the members of the Joint Public Service Commission?

1. President of India
2. Governors of the concerned states
3. Chairman, Joint Public Service Commission
4. Constitution of India is silent on this aspect
Options :
93806616237. 1
93806616238. 2
93806616239. 3
93806616240. 4



Question Number : 60 Question Id : 9380664174 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FrafaRad & U ®I4 Wgad did ddl 3N & Jad! ®f Hgfdd Sl g2

1. HRd &I I¥ufd
>, Tefeyd Il & AT UTe

3. 3{ege], YYdd i YdT g1
4. HIRd BT HAYH 39 =) § 049 g |

Options :

93806616237. 1
93806616238. 2
93806616239. 3
93806616240. 4

Question Number : 61 Question Id : 9380664175 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The power of Parliament to legislate with respect to a matter in the state list according to Article
249 of the Constitution of India is based on --------—

1. National Emergency

2. Matter related to the national interest

3. Consent of two or more states

4. Matters related to international agreements

Options :

93806616241. 1
93806616242. 2
93806616243. 3
93806616244. 4

Question Number : 61 Question Id : 9380664175 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR & TITUH & Jw5a 249 & TR o8 Gl & A1 & Heiy T f9f fmio &) gae ot
Qi IR R g |

L. TP SAMTADI

2. 7Y fod | Haiftrq At

3. G141 3ifUe Il Bl FgAfd

4. SIRIPTY THEAC! ¥ Yeifad A

Options :

93806616241. 1
93806616242. 2
93806616243. 3
93806616244. 4



Question Number : 62 Question Id : 9380664176 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following Departments of Ministry of Finance is responsible for the
preparation of budget of the Government of India?

1. Department of Finance

2. Department of Revenue

3. Department of Economic Affairs
4. Department of Expenditure

Options :

93806616245. 1
93806616246. 2
93806616247. 3
93806616248. 4

Question Number : 62 Question Id : 9380664176 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gﬂﬂﬂmmﬁaﬁﬁﬂﬁﬁaﬁwﬁmwwaﬂwwm%mm

1. fad faumT
2. Yo faumT
3. 3T ATl &1 [dUFT
4. g faum
Options :
93806616245. 1
93806616246. 2
93806616247. 3
93806616248. 4

Question Number : 63 Question Id : 9380664177 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following is NOT correct about the State Election Commission?

1. It was clearly mention in the article 243 K and 243 ZA of the Constitution of India
2. It 1s responsible for the conduct of the Election of Panchayats and Municipalities
3. The manner of removal of State Election Commissioner and Judge of the High Court is the
same
4. The President of India provides staff on the request of the State Election Commission for the
discharge of the functions
Options :
93806616249. 1
93806616250. 2
93806616251. 3
93806616252. 4



Question Number : 63 Question Id : 9380664177 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ey FRafad 3 & 9R & RafiiiEad 3 3 S 9d 98l 82

1. HRd & TG & w96 243 K 3R 243 zA T 3UHI WY I 5|

2. U8 Udrgdl 3R TRUICDI3M & [Hdidd & Hdler/ 3o & ol StRer! g

3. XY a3 3R 3= AR & G &l ged & dfd a1 g1

4. oY fai= 3T & 3R W Dhicdl/ D1l & (Adg & eIy HRd &1 Ipufd
ARG IUT BB

Options :

93806616249. 1
93806616250. 2
93806616251. 3
93806616252. 4

Question Number : 64 Question Id : 9380664178 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT correct about the power of Governor to promulgate Ordinance?

1. It is clearly mentioned in the Article 213 of the Constitution of India
2. A prior permission from the President of India is required to the Governor, before
promulgate every ordinance.
3. An ordinance promulgated under Article 213 shall have the same force and effect as an act
of the legislature
4. Ordinance may be withdrawn at any time by the Governor
Options :
93806616253. 1
93806616254. 2
93806616255. 3
93806616256. 4



Question Number : 64 Question Id : 9380664178 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ST BT AT U B & Ufad & aR § fRgfafad § O oHar gl g2

1. HRd & AU & 3ff=8q 213 H 3BT WY Iid g |

z.mm%ﬁmwﬁﬂmﬁqﬁwmumﬁiwmjwﬁmw
ISP g

3. 3wdq 213 & 3Tl weIfud fbdl sreare=r &1 faurfieT & fbdl sifafas & aH
o 3R WU g

4. TG IASTUTS gRI fobdl 4 90T 914y o1 S Yeobal g

Options :

93806616253. 1
93806616254. 2
93806616255. 3
93806616256. 4

Question Number : 65 Question Id : 9380664179 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which year, the administration of revenue, civil justice and Magistracy was united in the office
of the District Collector?

1. 1772
2. 1773
3. 1787
4. 1789

Options :

93806616257.
93806616258.
93806616259.
93806616260.

B N S

Question Number : 65 Question Id : 9380664179 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

by ay | yrora, fafdd a3k qusIiYEIdl BT U=INH a1 Seldel & dafay) ug §
Ui/ TiAfed fdar T 41

1. 1772
2.1773
3. 1787
4. 1789
Options :
93806616257.
93806616258.
93806616259.
93806616260.

AW N =



Question Number : 66 Question Id : 9380664180 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who/Which among the following decides the power and functions of the Gram Sabha according
to Constitution of India?

1. Governor of the state

2. State legislature

3. The Chairperson of the Gram Sabha

4. The Chairperson of the District Planning Committee

Options :

93806616261. 1
93806616262. 2
93806616263. 3
93806616264. 4

Question Number : 66 Question Id : 9380664180 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YRd & HlayH & HUR FEfeiRad 3 8 SIF 9 911 o1 2fdd 3R Hraf o1 Hofg ol g2

1. Y Bl gl
2. oY fauniaasT
3. UTH YT DI THTT
4. foren i 9fafa &1 gyfa
Options :
93806616261. 1
93806616262. 2
93806616263. 3
93806616264. 4

Question Number : 67 Question Id : 9380664181 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the contribution of Robert A Dhal among the following?

. Administration in Developing Countries: The theory of Prismatic Society
2. Public Administration: A Comparative Approach
3. The Science of Public Administration : Three Problems
4. Towards the Comparative Study of Public Administration
Options :
93806616265. 1
93806616266. 2
93806616267. 3
93806616268. 4



Question Number : 67 Question Id : 9380664181 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fAgfafad § U 0ed U lgd & diTGH &l Ugd™ &2

1. TSI § Saafti i i et oiits fiwifes aramd
2. UfedTeh TSHRRM: UhriRicd Ui

3. ﬁmwmmﬁ@sﬁ ol UlecTHy

4. TASH f& SRR @ 3l Ui UHFRezH

Options :

93806616265. 1
93806616266. 2
93806616267. 3
93806616268. 4

Question Number : 68 Question Id : 9380664182 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FW Riggs 1n his famous work on ‘Prismatic Society Revisited’, characterized societies into two
dimensions—degree of integration and ------------------ ?

1. degree of differentiation
2. degree of overlapping
3. degree of formalism

4. degree of diffusion

Options :

93806616269. 1
93806616270. 2
93806616271. 3
93806616272. 4

Question Number : 68 Question Id : 9380664182 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

% Soeg R 1 30+ vl id <fUafe s grad Riafsics», & aarsi of &l smam -
UbIDHRU DI f&4l 3R 4 frefud fbar i

1. fardieru ot 1330
2. YOI o fSUl
3. YR DIHI Dt (U
4. haa/ faxdR &1 &4l
Options :
93806616269. 1
93806616270. 2
93806616271. 3
93806616272. 4



Question Number : 69 Question Id : 9380664183 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following defined Development Administration is “action-oriented and goal
oriented administration system™?

1. Edward Weidner
2. UL Goswami

3. Donald C Stone
4., George Grant

Options :

93806616273. 1
93806616274. 2
93806616275. 3
93806616276. 4

Question Number : 69 Question Id : 9380664183 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRad ® O fag= gy foar [ fasr U= <dRdls- 3793l 3R ded- 3+l
TS YUl g |

1. USds doR

2. U Ml

3. 3HIeS Wl *H

4. SIS qre
Options :
93806616273. 1
93806616274. 2
93806616275. 3
93806616276. 4

Question Number : 70 Question Id : 9380664184 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the Central Personnel Agency of Japan?

1. Office of Ministry of Civil Services
2. Office of Personnel Management
3. Central Civil Service Directorate
4. National Personnel Authority
Options :
93806616277. 1
93806616278. 2
93806616279. 3
93806616280. 4



Question Number : 70 Question Id : 9380664184 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Pafifad 8 9 S19H SuH & $<1g iffe o g2

1. ATy 3HTth R 3ifh fifae gfdas
2. 3ThY 3% gUd G-oiHe
3. Y=o [Hi9d 9idy SraRdeRe
4. 99 gHAd TR
Options :
93806616277. 1
93806616278. 2
93806616279. 3
93806616280. 4

Question Number : 71 Question Id : 9380664185 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following years “Fiscal Responsibility and Budget Management Act (FRBM)”
was enacted?

1. 2000
2.2002
3.2003
4. 2005

Options :

93806616281. 1
93806616282. 2
93806616283. 3
93806616284. 4

Question Number : 71 Question Id : 9380664185 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafeRad § 9 foy oy «Ieia ity SwRalfid 3R duie Uded e (th -y
sifefafad fear mar ur

1. 2000
2.2002
3.2003
4. 2005
Options :
93806616281.
93806616282.
93806616283.
93806616284.

AW N =



Question Number : 72 Question Id : 9380664186 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following unit is NOT a part of the Economic division of the Department of
Economic Affairs of Government of India?

1. Micro Unit

2. Public Finance Unit

3. Industry and Infrastructure Unit
4. Civil Expenditure Unit

Options :

93806616285. 1
93806616286. 2
93806616287. 3
93806616288. 4

Question Number : 72 Question Id : 9380664186 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

EfIREd 1 9 DIl shls HRd WRBR & fad HAad & 31idd Al & [qUrT & i
YN & AT ol 82

1. Y& 3P
2. did [ad 3l
3. QNI U4 AU 5Dl
4. Nofq g Sp15
Options :
93806616285. 1
93806616286. 2
93806616287. 3
93806616288. 4

Question Number : 73 Question Id : 9380664187 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following Articles of the Constitution of India is related to GST Council?

1.257 A
2.258A
3.268A
4.279 A
Options :
93806616289. 1
93806616290. 2
93806616291. 3
93806616292. 4



Question Number : 73 Question Id : 9380664187 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR & HldeH & HRicRad § ¥ &Il sw96 ollvdc] uRNg U Isfed g2

Options :

93806616289. 1
93806616290. 2
93806616291. 3
93806616292. 4

Question Number : 74 Question Id : 9380664188 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Performance Budgeting in India was recommended by :

1. First Administrative Reforms Commission
2. Performance cum Programme Committee
3. Public Accounts Committee
4. 10™ Finance Commission of India

Options :

93806616293. 1

93806616294 2

93806616295. 3

93806616296. 4

Question Number : 74 Question Id : 9380664188 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YRd ¥ 16 g97e fhad gRT SRR foar mr 4

L. WY YRGS YR 3T
2. FYTe 9 SridH gt
3. did oikal 9iffd

4. IR &1 10 af fad 3anT

Options :

93806616293. 1
93806616294. 2
93806616295. 3
93806616296. 4




Question Number : 75 Question Id : 9380664189 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following acts as the Chairman of the National Disaster Management Authority
(NDMA)?

1. President of India

2. Prime Minister

3. Union Home Minister
4. Cabinet Secretary

Options :

93806616297 1
93806616298. 2
93806616299. 3
93806616300. 4

Question Number : 75 Question Id : 9380664189 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fafafad # 9 S TP 319ar Uy TS0 (NDMA) & A& D 70 H B Bl 62

1. HRd DI Iyuld
2. YTHAT

3. h-g1Y g HAl
4. HAHST afdg

Options :

93806616297. 1
93806616298. 2
93806616299. 3
93806616300. 4

Question Number : 76 Question Id : 9380664190 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Untouchability (Offences) Act of 1955 has been renamed as with
effect from 1976.

1. Prohibition of Untouchability Activities Act

2. Protection of Humans from Untouchability Act
3. Protection of Citizen and Human Rights Act

4. Protection of Civil Rights Act

Options :

93806616301. 1
93806616302. 2
93806616303. 3
93806616304. 4



Question Number : 76 Question Id : 9380664190 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SR (3URTH) AT 1955 Dl 1976 & U g9 H1ffyd fdbar gl

1. Y=Y fehardard Ul ffefrm

2. 3Gl Y HI4| & TR {ffam
3. ARG 3R GHAIUSR G807 3Ty
4. fufde sifrpR W sifafaan

Options :

93806616301. 1
93806616302. 2
93806616303. 3
93806616304. 4

Question Number : 77 Question Id : 9380664191 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following Constitutional Amendment Acts provided Reservation for Women in Lok
Sabha and State Legislative Assemblies?

1. 104" Amendment Act
2. 105™ Amendment Act
3. 106™ Amendment Act
4. 102" Amendment Act

Options :

93806616305. 1

93806616306. 2

93806616307. 3
93806616308. 4

Question Number : 77 Question Id : 9380664191 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FEfaRad # U foog YayTHe I=NeE gRI dieaHT 3R Iy [Fur=ayra # Afganedi & fau
3REUT DT IUY I 1T UT?

1. 104 af GeH AFTH
2. 105 a1 YIeH AfEHTH
3. 106 a1 YRNYH AFATH
4. 102 31 TRy AfAfTH

Options :

93806616305. 1

93806616306. 2

93806616307. 3

93806616308. 4



Question Number : 78 Question Id : 9380664192 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Pradhan Mantri Garib Kalyan Anna Yojana (PM-GKAY) Scheme of Government of India is
operational from the year:

1.2016
2.2018
3.2020
4. 2022

Options :

93806616309.
93806616310.
93806616311.
93806616312.

D W N =

Question Number : 78 Question Id : 9380664192 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HRA DR B U TR Hedrvl 3 TISHT (PM- GKAY) fhd a8 I udiad | g2

1.2016
2.2018
3.2020
4.2022
Options :
93806616309.
93806616310.
93806616311.
93806616312.

AW N —

Question Number : 79 Question Id : 9380664193 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the name given by Charles Lindblom to the method of decision making 1n which
incremental decisions are made through ‘successive limited comparisons’?

1. Root Method
2. Branch Method
3. Leaf Method
4. Stem Method

Options :

93806616313. 1
93806616314. 2
93806616315. 3
93806616316. 4



Question Number : 79 Question Id : 9380664193 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“eh B/ IRadl Hiffid qe-13il & ey I @ie-sic kg o4 ot FAofa- fAgior fafy «f
ared fefsseid gRT @m 14 féar ma g2

1. 5Te/ 9 fafy
2. 1T fafe

3. Ol ol fafe
4. -1 fafg

Options :

93806616313. 1
93806616314. 2
93806616315. 3
93806616316. 4

Question Number : 80 Question Id : 9380664194 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

How many normative models of Policy Making was identified by Yehezkel Dror?

1. Eight

2. 81%

3. Five

4. Three
Options :
93806616317. 1
93806616318. 2
93806616319. 3
93806616320. 4

Question Number : 80 Question Id : 9380664194 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Agolhd ok gRI HIfd A0 & fdbad AH®1g disd fafgd febu e do

1. 36

2. 9%

3. 019

4.
Options :
93806616317. 1
93806616318. 2
93806616319. 3
93806616320. 4




Question Number : 81 Question Id : 9380664195 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following policy implementation style is applicable when the severity of the
constraints on state 1s high and nature of the target group is broad?

1. Institutionalized Volunteerism
2. Representative Legalism

3. Directed Subsidization

4, Directed Provision

Options :

93806616321. 1
93806616322. 2
93806616323. 3
93806616324. 4

Question Number : 81 Question Id : 9380664195 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

old oY WR Yfdae] ] TR 3 Bkl § IR dfedd g &1 Udbid a1 gidl g dl
FraferRad 8 9 oIl Hifd Srai-aa- 2 sHuge gidl g2

1. TR 9gfddrarg
2. UfdfAfeayuf fafeiddrg
3. FE g geiisiar
4. ¢ Rg Sudy

Options :

93806616321. 1

93806616322. 2

93806616323. 3

93806616324. 4

Question Number : 82 Question Id : 9380664196 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a policy instruments given by Christopher Hood’s classification
of tools of the government?

1. Persuation

2. Organization

3. Authority

4, Non financial incentives

Options :

93806616325. 1
93806616326. 2
93806616327. 3
93806616328. 4



Question Number : 82 Question Id : 9380664196 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafciad § O oIl bt g8 & WRORI JUHUI &I d1ffdu] gRT e Hifd Sudb oy
gfe el 82

1. 3T
2. T

3. UIfefdR
4. TR fafog Urerga

Options :

93806616325. 1
93806616326. 2
93806616327. 3
93806616328. 4

Question Number : 83 Question Id : 9380664197 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Corporatism is a pattern of rule in which the state has strong ties with:

1. Industries and public sector
2. Business organizations
3. Business and labour organizations
4. Business and transnational corporations
Options :
93806616329. 1
93806616330. 2
93806616331. 3
93806616332. 4

Question Number : 83 Question Id : 9380664197 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HRURCAIE U QMG Ugfd g ford Isg & by goidd dde gld g2

1. AT 3R I &7
2. Iy Y6
3. Y 3[R 4H Y1a

4. SOGHN 3R RiPI e

Options :

93806616329. 1
93806616330. 2
93806616331. 3
93806616332. 4




Question Number : 84 Question Id : 9380664198 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following is NOT a ‘poor governance’ according to the World Bank
formulation?

1. A separation between public and private
2. Unaccountable bureaucracies

3. Arbitrary policy making

4. Abuse of executive power

Options :

93806616333. 1
93806616334. 2
93806616335. 3
93806616336. 4

Question Number : 84 Question Id : 9380664198 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FrafaRad o O w1 {9y d TG & 3R “WRIE ARG 181 82

1. grdeid 3R sl & o gyl

2. IR- Saldagl HIPTel
3. HAHMET Hifd [AAfor

4. HIAUIADI Afdkd DI GEUINT

Options :

93806616333. 1
93806616334. 2
93806616335. 3
93806616336. 4

Question Number : 85 Question Id : 9380664199 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Etyvmologically the word ‘governance’ can be traced back to

1. Latin word Gubernare
2. Greek verb Kubernan
3. Italian word Governe
4. French verb Bureacrazia
Options :
93806616337. 1
93806616338. 2
93806616339. 3
93806616340. 4



Question Number : 85 Question Id : 9380664199 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e HARIY D10 U Woq “Td4a” Bl db @ISt R ST bl g2

1. AifeT g TaRAR
2. Yidh fohal A

3. Zdlerd! Qeg T
4. T oc; SRThIoMI

Options :

93806616337. 1
93806616338. 2
93806616339. 3
93806616340. 4

Question Number : 86 Question Id : 9380664200 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the theory of ‘Governance’ economists believe that the effectiveness of market reforms was
dependent upon the:

1. Institutional growth

2. Appropriate political institutions

3. Advance systems of civil society

4. Efficiency of administrative institutions

Options :

93806616341. 1
93806616342. 2
93806616343. 3
93806616344. 4

Question Number : 86 Question Id : 9380664200 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“&Ww%rﬂﬂvé?mﬁw@mmmm%ﬁawgﬂﬁfaﬁmmmm
31f%d g2

1. IR 9fs

2. G IoIdd G-I

3. fOfde 9t ot Idd wunferar
4. U STl &1 g&dl

Options :

93806616341. 1
93806616342. 2
93806616343. 3
93806616344. 4



Question Number : 87 Question Id : 9380664201 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following methods of Data Collection is known for ‘repeated face to face
encounters between the researcher and respondents?

1. Focus group interviews
2. In-depth interviews

3. Narratives

4. Informal talks

Options :

93806616345. 1
93806616346. 2
93806616347. 3
93806616348. 4

Question Number : 87 Question Id : 9380664201 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

STeT YaaH &l HafaRad # ¥ oI faftl <xiudal iR YRl & aid YARIgID -
T Her & e S Sl 82

1. ffHchi=<rd g HIATHR
2. 1l Hi&ldh R

3. AR

4. 3RS ardie
Options :
93806616345. 1
93806616346. 2

93806616347. 3
93806616348. 4

Question Number : 88 Question Id : 9380664202 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a primary method of data collection?

1. Observation
2. Interviewing
3. Questionnaire
4. Census
Options :
93806616349. 1
93806616350. 2
93806616351. 3
93806616352. 4



Question Number : 88 Question Id : 9380664202 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frafafad 7 9 I ST dha- & Ui fafe 11 g2

1. &
2. TIETah R
3. UYIdai]

4. ol IU]
Options :
93806616349. 1
93806616350. 2
93806616351. 3
93806616352. 4

Question Number : 89 Question Id : 9380664203 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Changes in the dependent variable, because of the respondent’s state of mood or ambiguity in the
research instrument is called as

1. Random variable

2. Special variable

3. Independent variable
4. Extraneous variable

Options :

93806616353. 1
93806616354. 2
93806616355. 3
93806616356. 4

Question Number : 89 Question Id : 9380664203 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

JeRadl &l HIG=I 3Ydl QY IUHRN T 3RGYd b HRUI, 1 9= 1 uRdd+
Hedldi gl

1. grefwsd @R

2. faRIy =R

3. WGdI ™R

4. JII/ 3HITd =R
Options :
93806616353. 1
93806616354. 2
93806616355. 3
93806616356. 4




Question Number : 90 Question Id : 9380664204 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A research study i1s based upon the existence of a common characteristic such as year of birth,
generation or marriage within a sub group of population is called as

1. Panel Studies
2. Trend Studies
3. Cohort Studies
4, Blind Studies

Options :

93806616357. 1
93806616358. 2
93806616359. 3
93806616360. 4

Question Number : 90 Question Id : 9380664204 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ST & IUGHE W S A1 faarg, S 9y Sl 9 fa=ivare & i uR serid
Qe 3T TGS

1. U9 g

2. Ugfd 3rea-
3. THg T
4. 3eRY ALY
Options :
93806616357. 1
93806616358. 2
93806616359. 3
93806616360. 4



Question Number : 91 Question Id : 9380664205 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following training phases of Indian Foreign Service officers in sequential order
A. Probationary Training

B. Foundation Training

C. Practical Training

D. Professional Course

Choose the correct answer from the options given below:

1.B
2.B,D. A
3.A,B,C,
4. A.C,B
Options :
93806616361. 1
93806616362. 2

93806616363. 3
93806616364. 4

Question Number : 91 Question Id : 9380664205 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR faew a1 D 1g! & afciRad UiRiefor @Rl & sibhd Y Taiyd Hi |

A. GRATETHT UiRreror

B. IS ST/ STYRY URI&m
C. TagIRD W&l

D. UIhTHd B

1.B,D,C,A

2.B,D,AC

3.3JAB.C.D

4. A.C,B,.D
Options :

93806616361. 1
93806616362. 2
93806616363. 3
93806616364. 4



Question Number : 92 Question Id : 9380664206 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following events related to Public administration in a Chronological order.
A. Philadelphia Conference

B. US President's Committee on Administrative Management

C. First Minnow brook Conference

D. Publication of First Text-book in Public Administration

Choose the correct answer from the options given below:

93806616365. 1
93806616366. 2
93806616367. 3
93806616368. 4

Question Number : 92 Question Id : 9380664206 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Al TR § Geftd FyieiRgd ge-13i ol S u-yuR Faid $i |

A. Tharsfetar giaH

B. 3ARS! APUT B U= TefeT Ffffa
. UyH ol o geicH

D. did U § U2H UIGIY&ID Bl UDHIH

1.4 B, . D

2.D,B,AC

3.D.AB.C

4. A C,B,.D
Options :

93806616365. 1
93806616366. 2
93806616367. 3
93806616368. 4



Question Number : 93 Question Id : 9380664207 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the works of Mary Parker Follett in a chronological order:
A. The New State

B. Creative Experience

C. The Speaker of the House of Representatives

D. Dynamic Administration

Choose the correct answer from the options given below:

1.LA.B,C.D
2.0 A B D
3.C,B.AD
4.C,A.D.B
Options :
93806616369. 1
93806616370. 2
93806616371. 3

93806616372 4

Question Number : 93 Question Id : 9380664207 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR UTh Bicle Bl Hicdl &l HIclshd Y Faied Bi:

A flegwe
B. fhufeq vaadiidg
c. ¢ Wi 3w 16 g3y 3Uth Rusiidey

D. SIS TSI

-

woog

* 3
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UP WA

B

JA,

, B

4 LA,
Options :

93806616369. 1

93806616370. 2

93806616371. 3

93806616372. 4

-



Question Number : 94 Question Id : 9380664208 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the sequence of the attributes of the manager as suggested by Henri
Fayol?

A. Mental

B. Physical

C. General Education

D. Special Knowledge

E. Moral

Choose the correct answer from the options given below:

l1.LAB,D.C.E

2.A,B,.C,D;E

3. B.AE ED

4.B,A.C.D.E
Options :

93806616373. 1
93806616374. 2
93806616375. 3
93806616376. 4

Question Number : 94 Question Id : 9380664208 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRad o O B %1 hald gR1 Y3l 701 Uy & SIS BT 3-HH g2

A HHRD
B. ARIR®
C. TEg 218
D. faviy I
E. Adfdd

13 fow T et & 98 SR

SR

Uoun

W
td Ot

FrRe
O

-

I Lad D =

Options :

93806616373. 1
93806616374. 2
93806616375. 3
93806616376. 4



Question Number : 95 Question Id : 9380664209 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following committees in a sequential order as per their year of establishment
A. Ashok Mehta Committee

B. Giridhari Lal Vyas Committee

C. G.VK Rao Committee

D. L. M. Singhvi Committee

Choose the correct answer from the options given below:

1.A,B,C.d

2.B,AD.C

33JA,B.D,.C

4.B,A,C,D
Options :

93806616377. 1
93806616378. 2
93806616379. 3
93806616380. 4

Question Number : 95 Question Id : 9380664209 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FrafaRad gfafcal & 3¢ R a4 & IR gl hd I AaRUd B |

A. 3=MH Hgdl gt
B. TRURT ore aar afafa
c. Sit. d1. &. 39 gfifg
D. Ud. UH. Rigdl gfafd

i3 fow U et 4 9E SR G

-
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»
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s
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Options :
93806616377. 1
93806616378. 2
93806616379. 3
93806616380. 4



Question Number : 96 Question Id : 9380664210 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following events in a sequential order

A. Creation of the post of the District Collector

B. Cornwallis Code

C. Placement of District Treasury under the District Collector

D. Administration of revenue, civil justice and magistracy services united in the office of District
Collector

Choose the correct answer from the options given below:

1.A,D,B,C

2.A,B,C,D

3.BA.C,D

4.B.A.D,C
Options :

93806616381. 1
93806616382. 2
93806616383. 3
93806616384. 4

Question Number : 96 Question Id : 9380664210 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFrafciad ge-rel &l ey ¥ HafRyd $i|

A. TSIl Dclder & UG & gold

B. BIHdlfery digdr

C. TSIeT AT 1Y ol STl dcidex & 3HefH YR ST

D. I, F¥fdd g 3R U1l Yar3il &1 U= foldl ddex driad & Sidifd

UDIHd HIAT
I feu e fddhed! & wgl 3R -

1.A,D,B,C

2.A,B.C,D

3.B,A,C,D

4.B,A.D,C
Options :

93806616381. 1
93806616382. 2
93806616383. 3
93806616384. 4



Question Number : 97 Question Id : 9380664211 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following stages of research methodology in a sequential order
A. Selecting a Sample

B. Data Collection

C. Writing Research Proposal

D. Data Processing

Choose the correct answer from the options given below:

1.C,A.B,D

2.A,C,B,D

3.BA.C,D

4. A,B,C,D
Options :

93806616385. 1
93806616386. 2
93806616387. 3
93806616388. 4

Question Number : 97 Question Id : 9380664211 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

LMY Ufafe & fafaRad =Rul &I 3HH U TaiRUd S|

A UG &1 99 B
B. SIcT b dd Bl

C. 201¢ Td1d Ta-
D. ST GIfeahIul
-fid feu Ty fasb edl @ |l S -
1.C,A, B, D
7.AC-B.D
3.BACD
4.A,B,C,D
Options :

93806616385. 1
93806616386. 2
93806616387. 3
93806616388. 4



Question Number : 98 Question Id : 9380664212 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following steps in formulating the Research Problem in sequential order
A. Select the topic which is of interest to the researcher

B. Dissect the broad area into sub-areas

C. Raise Research Questions

D. Formulate Objectives

Choose the correct answer from the options given below:

AR CoB

2.BAD.C

3.BA.C,D

4. A, B,D,C
Options :

93806616389. 1
93806616390. 2
93806616391. 3
93806616392. 4

Question Number : 98 Question Id : 9380664212 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sy g A & FEiRad 9Ron & 3hd I Haiyd B |

A. MYFdl i U &[99 &1 984
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Options :

93806616389. 1
93806616390. 2
93806616391. 3
93806616392. 4



Question Number : 99 Question Id : 9380664213 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following phases of Indian budgeting process in sequential order
A. Scrutiny by Departmental Committees

B. Voting on Demands for Grants

C. Passing of Finance Bill

D. Passing of Appropriation Bill

Choose the correct answer from the options given below:

93806616393. 1
93806616394. 2
93806616395. 3
93806616396. 4

Question Number : 99 Question Id : 9380664213 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR oIty Ufchar & fafafad 9ol &l e d ¥ Hafd Sl

A. TaumrT des gfifaal gr Siig
B. 3{&MI &I HiTll IR GdgH
c. fad [d8a® &1 uilRd gl
p. fafaanT fagas &1 Ui g

A fau U fadedi & w8l IR -
1.4 B, . D
2.B,AD,C
3.BA.C,D
4. A B,D,.C
Options :

93806616393. 1
93806616394. 2
93806616395. 3
93806616396. 4



Question Number : 100 Question Id : 9380664214 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following heads of the account procedures in a top-down order
A. Detailed Head

B. Sub Head

C. Minor Head

D. Major Head

Choose the correct answer from the options given below:

93806616397. 1
93806616398. 2
93806616399. 3
93806616400. 4

Question Number : 100 Question Id : 9380664214 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o1 ufdbarsil & fAgfaRad el ol 2y el A H Hafld $3|
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Options :

93806616397. 1
93806616398. 2
93806616399. 3
93806616400. 4



Question Number : 101 Question Id : 9380664215 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Peter Deleon narrated the development of public policy from 1950s to 1970s through five
political events with the help of a complicated model of demand and supply of policy analysis.
Arrange the political events in the sequential order as narrated by Peter Deleon.

A. Second World War

B. Energy Crisis

C. War on Vietnam

D. War on Poverty

E. Water Gate Scandal

Choose the correct answer from the options given below:

Options :

93806616401. 1
93806616402. 2
93806616403. 3
93806616404. 4

Question Number : 101 Question Id : 9380664215 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Urex fSeftaiia A =ifd o=y & wi SR 31yfd & Sfed Alsd & Ggridl ¥ Uid IsHidd
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B. $ull e
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Options :

93806616401. 1
93806616402. 2
93806616403. 3
93806616404. 4



Question Number : 102 Question Id : 9380664216 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify correct sequence of the waves of the public sector reforms
A. Openess to the disclouser of information

B. Networks and Partnerships

C. Marketization and privatization

D. Neo liberalism and public choice

Choose the correct answer from the options given below:

1.D,C,B, A
2.6, B A D
3.BA.C,D
4.D.B.A,C

93806616405. 1
93806616406. 2
93806616407. 3
93806616408. 4

Question Number : 102 Question Id : 9380664216 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806616405. 1
93806616406. 2
93806616407. 3
93806616408. 4



Question Number : 103 Question Id : 9380664217 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following concepts of their emergence as part of Governance in a chronological
order:

A. Governance and Development

B. Public choice

C. New Public Service

D. Governing the Commons

Choose the correct answer from the options given below:

Options :

93806616409. 1
93806616410. 2
93806616411. 3
93806616412. 4

Question Number : 103 Question Id : 9380664217 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806616409. 1
93806616410. 2
93806616411. 3
93806616412. 4



Question Number : 104 Question Id : 9380664218 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following books of Public Policy in Chronological order according to year of
Publication?

A. Harold Lasswell’s Preview of Policy Sciences

B. Aaron Wildavsky’s The Art and Craft of Policy Analysis

C. Paul Sabatier’s Theories of the Policy Process

D. Charles O Jones’ An Introduction to the Study of Public Policy
Choose the correct answer from the options given below:

1.D,A,C,B
2.6, DA B
3.C,A,D,B
4.D,A,B,C

Options :

93806616413. 1
93806616414. 2
93806616415. 3
93806616416. 4

Question Number : 104 Question Id : 9380664218 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frafcRad did ifd gl & 3d YDA a4 & YR DHIddhd U AR $1 |

A. BITS AIRYdd $i Wi 3Hith Ulferd! wrgds
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D, =1 3 ST & T 2eleaR ¢ & et il ufeep aferdt

1A Fow U et 98 SR

1.D.AC.B
2.C,D,A.B
3.CCA.D.B
4.D,A B, C
Options :
93806616413. 1
93806616414. 2
93806616415. 3
93806616416. 4



Question Number : 105 Question Id : 9380664219 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following Acts in a chronological order according to their year of enactment.
A. Right to Information Act

B. Central Vigilance Commission Act

C. Prevention of Corruption Act

D. The Whistle- Blowers Protection Act

Choose the correct answer from the options given below:

1.B,C.A, D
208 A D
3.C,B.D. A
4.B,C.,D,A
Options :
93806616417. 1
93806616418. 2
93806616419. 3
93806616420. 4

Question Number : 105 Question Id : 9380664219 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ﬁﬁaﬁ@aaﬁﬁuﬁfaﬁﬁaﬁrﬁuﬁaﬁmaﬁ%aﬁ% 3UR Wl dIahH U Fared
|
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1.B.C.A.D
2.C,B.A.D
3.C,B.D.A
4.B,C.D. A
Options :
93806616417. 1
93806616418. 2
93806616419. 3
93806616420. 4



Question Number : 106 Question Id : 9380664220 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statments is / are correct about Minnobrook Conferences?

A. First Minnowbrook Conference was decidedly anti behavioural

B. Second Minnowbrook Conference’s tone and temper was more pragmatic

C. Third Minnowbrook Conference expressed dissatisfaction on the discipline of Public
Administration

D. The Minnowbrook Conferences are conducted for every Twenty Five years.
Choose the correct answer from the options given below:

1.A,B,and C
2.B, C and D only
3. Aand C Only
4. A and B Only

Options :

93806616421. 1
93806616422. 2
93806616423. 3
93806616424. 4

Question Number : 106 Question Id : 9380664220 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fPrige gl & IR ¥ FYfeiad § 9 oY $3 9 g2
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B. fgdi [dig® Tid o Acll 3R U4 3H{¥d HdgiR® 4|

C. i Tl qwie A did U= faur=iRar UR 3Rgi e &l |
D. s Je Ufd U=y 9y & feiu Haferd fdhu Sird g1

1A Fow U et 98 SR

1. HAd A, B, AR C
2. $Id B, C 3R D
3. Had A 3R C
4. Hdd A 3R B

Options :

93806616421. 1
93806616422. 2
93806616423. 3
93806616424. 4




Question Number : 107 Question Id : 9380664221 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following administrative writers subscribed to the ‘managerial view* of Public
Administration?

A. Herbert Simon

B. Smithburg

C. Luther Gulick

D. L.D White

Choose the correct answer from the options given below:

l1.A, B & C only
2.B, C and D Only
3. A, Cand D Only
4.A.B,C,D
Options :
93806616425. 1
93806616426. 2
93806616427. 3
93806616428. 4

Question Number : 107 Question Id : 9380664221 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fafaRad 7 9 o9 9 UIfE Tad die-UNH & <UdyDig e HI0r Bf WhR $d o2

AId feu Y fddhed! | wgl 3R -

. Hdd A, B3R C
2. Hdd B, C AR D
3. $Hdd A, C 3R D
4.A,B.C.D
Options :
93806616425. 1
93806616426. 2
93806616427. 3
93806616428. 4



Question Number : 108 Question Id : 9380664222 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following principles are part of the eight principles of organization, identified
by Lyndall Urwick?

A. Principles of objectives

B. Princples of specialization

C. Principles of definition

D. Principles of control and budgeting

Choose the correct answer from the options given below:

1. A, B and D Only
2. A, B and C Only
3.B, C and D Only
4. A.B,C,D
Options :
93806616429. 1
93806616430. 2
93806616431. 3
93806616432. 4

Question Number : 108 Question Id : 9380664222 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRaa § 9 S Rigid fiisid 3ide gri fafed e & 3118 Rgidl &1y g2

A. 3l BT Rgid

B. [a2i&u &1 Rrgid

C. gieHT &1 fagid

D. a1 3R geidiarul &1 Rigid

1A Fow U et 98 SR

|.Hdd A, B3R D
2. HAd A, B3R C
3. $dd B, C 3R D
4.A.B.C.D
Options :
93806616429. 1
93806616430. 2
93806616431. 3
93806616432. 4



Question Number : 109 Question Id : 9380664223 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the contributions of Chester Barnard among the following:
A. Zone of Acceptance

B. Zone of Indifference

C. Fiction of Authority

D. Contribution-satisfaction- equilibrium

Choose the correct answer from the options given below:

1. A, B and D Only
2.A,B,CandD
3.B, C and D Only
4. A, B and C Only
Options :
93806616433. 1
93806616434. 2
93806616435. 3
93806616436. 4

Question Number : 109 Question Id : 9380664223 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ffiRad # U 9% s & dieHl &f fafgd &3

A, Wieriar &
B. SGIHdl &T &7
C. UIYHR &l gyu)/ ehild

D. ANTGH- YdfP- JHdedd
Id feu 7Y fadedl & Tgt SR G-
I.$hdd A, Band D

2.A,B,CandD

3. HAdB, Cand D
4. HdA A, Band C

Options :

93806616433. 1
93806616434. 2
93806616435. 3
93806616436. 4



Question Number : 110 Question Id : 9380664224 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following staments are ‘true’ regarding the Lokpal and Lokayukta Act, 2013?

A. The Administrative expenses of the Lokpal be charged on the Consolidated Fund of India

B. Prime Minister and all ministers of the Central Government are included in the jurisdiction of
Lokpal

C. The administrative wing of the Lokpal is headed by a Secretary of the Department of the
Personnel and Training

D. Director of the Central Bureau of Investigation is an ex-officio member of the Lokpal

Choose the correct answer from the options given below: \

1.A,B,Cand D

2. Aand B Only

3. A,Band C Only

4. B, C and D Only
Options :
93806616437. 1
93806616438. 2
93806616439. 3
93806616440. 4

Question Number : 110 Question Id : 9380664224 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

b uTd SR dib’ad AT, 2013 & ddo § ([HafaRad § O oY $yH Ud g2

A. DU ST U HS T YR 6l Tierd [ iR YiRd gIar g

B. UM 3R i WHR & G 1= diburd & =arge= I 9itifed gid g

C. B UTd & WRINHS a7 Thy ST gRIT1 St 3R UiRIeor f[4r &1 afad gl gl
D. $-51Y a0 & &1 (GRS el Uld B U o gidl g

i3 foy U et 4 9E SR

1.A.B,C3RD

2. Hdd A 3R B
3. HAd A, B3R C
4. Hdd B, C 3R D

Options :

93806616437. 1
93806616438. 2
93806616439. 3
93806616440. 4




Question Number : 111 Question Id : 9380664225 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following are the Departments of Ministry of Home Affairs?
A. Department of Official Languages

B. Department of Administrative Reforms

C. Department of Internal Security

D. Department of Border Management

Choose the correct answer from the options given below:

1.A.B,Cand D

2. A, B, C Only
3.B, C and D Only
4. A, C and D Only

Options :

93806616441. 1
93806616442. 2
93806616443. 3
93806616444. 4

Question Number : 111 Question Id : 9380664225 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FafaRad o 9 &I ¥ 7 ey & [qur g2

A. JSTHTT fdHmT

B. RIS YR faum
C. 3iidRe e faum
D. U U faumT

AId feu Y fddhed! | wgl 3R -

I.A,B,C3RD
2. HAA A, B, C
3. HIdB, Cand D
4.WA~CandD

Options :

93806616441. 1
93806616442. 2
93806616443. 3
93806616444. 4



Question Number : 112 Question Id : 9380664226 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What are the salient features of the 74th Constitutional Amendment Act?
A. It provides four tier system of Municipalities

B. It provides for the establishement of District Planning Committee

C. 12th Schedue of the Constitution was inserted through this amendment
D. It provides one third reservation for women in Municipalities

Choose the correct answer from the options given below:

1. A, B and D only
2. A, B and C only
3.B, C and D only
4. A, C and D only

Options :

93806616445. 1
93806616446. 2
93806616447. 3
93806616448. 4

Question Number : 112 Question Id : 9380664226 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

74d TauTid T=eA HfAHTT S UEd [q=marn «&ge

A. 3UH IR-KRI ATRUIIh] YU &l WY fddl T g |

B. SUH ISTdT gioiHT1 YA &1 RI9H1 &1 Uiae= [dhar g |

C. 39U YUY R U9 &1 12 df 3! 3fd: R1MUd &1 715 4|

D. 39H TRUIIHIA & Afgenaii & U Us fdgls 3R &1 Ulay™ f&ar /i gl

1A Fow U et 98 SR

|.Hdd A, B3R D
2. HAd A, B3R C
3. $dd B, C 3R D
4. Hdd A, C 3R D
Options :
93806616445. 1
93806616446. 2
93806616447. 3
93806616448. 4



Question Number : 113 Question Id : 9380664227 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are "NOT** mentioned in the Constitution of india?
A. Notified Area Committee

B. Town Area Committee

C. District Planning Committee

D. Metropolitan Planning Committee

Choose the correct answer from the options given below:

1. B, C and D only
2. Aand B only
3. A, Band C only
4. A and C only

Options :

93806616449. 1
93806616450. 2
93806616451. 3
93806616452. 4

Question Number : 113 Question Id : 9380664227 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HRA & Yidy™ H FafeiRad # U fb-1d1 Sooikg =gl g2

A. STl & gfffa

B. I/ e134 &7 Iiffd
c. forar g afafa

D. Heaifered i1 Hifd

AId feu Y fddhed! | wgl 3R -

|.$dd B, C 3R D
2. HId A 3R B
3. hdd A, B 3R C
4. Hadd A 3R C

Options :

93806616449. 1
93806616450. 2
93806616451. 3
93806616452. 4



Question Number : 114 Question Id : 9380664228 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following features govern the Administrative sub system in Sala model,
according to Riggs?

A. Nepotism

B. Poly- Communalism

C. Poly - Normativism

D. Separation of authority from Control

Choose the correct answer from the options given below:

1.A,B.Cand D

2. A, B and C only
3. A, B, and D only
4. B, C, and D only

Options :

93806616453. 1
93806616454. 2
93806616455. 3
93806616456. 4

Question Number : 114 Question Id : 9380664228 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

7 & 3R 9 disd ¥ gfafad O 9 oI faRivan y=mi-ie 39 Yol &i
TR Bl 82

A. HIB- HdISdTG

B. 98- TiUcidddrag

C. dg- HIH®dIq

D. [EA0 Y UIfIHR DI GUdhRl

I feu e fddhed! & wgl 3R -

1.A,B,Cand D

2. HAd A, B3R C
3. hdd A, B, 3R D
4. $Hdd B, C, 3R D

Options :

93806616453. 1
93806616454. 2
93806616455. 3
93806616456. 4



Question Number : 115 Question Id : 9380664229 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to the Article 110 of the Constitution of india, a bill is deemed to be a Money bill, if it
contains-------=--=-----

A. The imposition and alteration of any tax

B. Appropriation of money from Consolidated Fund of India

C. Impostion of fines or other penalties

D. Imposition of any tax by any local authority

Choose the correct answer from the options given below:

l. A and B only
2. A,Band D only
3. A, Band C only
4. B and D only

Options :

93806616457. 1
93806616458. 2
93806616459. 3
93806616460. 4

Question Number : 115 Question Id : 9380664229 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hﬂﬂégﬁﬁméwﬂﬁt 110 & ATER, B4l fadg® @ o fa8ad 7 s, afe 39
fafga

A. Tt &R &1 URadq 3R 3R

B. HRd &1 Gfad Y T 4= &1 faf=giT

C. S 3R 31 MRl BT SR

D. T4l R DR gRI [ S &1 fERIYu

I feu e fddhedl & Tgl 3R -

. Hdd A 3R B
2. Hdd A, B 3R D
3. hdd A, B3R C
4. HAd B AR D
Options :
93806616457. 1
93806616458. 2
93806616459. 3
93806616460. 4



Question Number : 116 Question Id : 9380664230 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following Institutions are related to United Kingdom’s Administrative system?
A. Civil Service Commission

B. Treasury

C. Civil Service College

D. National School of Administration

Choose the most appropriate answer from the options given below:

1. A, B and C only
2. A, Cand D only
3.B, C and D only
4. A, B and D only

Options :

93806616461. 1
93806616462. 2
93806616463. 3
93806616464. 4

Question Number : 116 Question Id : 9380664230 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafdRed o U &I Y GRIF g3 S fdhisy & Ui Wored § defed g2

A. Tofaa afda wd=E
B. ¢RI
c. [faq afdy sids

D. YA ¥ 3 TSR
AId feu Y fddhed! | wgl 3R -

. $ad A, B3R C
2.%dd A, C IRD
3. HId B, C 3R D
4.$dd A, B3R D

Options :

93806616461. 1
93806616462. 2
93806616463. 3
93806616464. 4



Question Number : 117 Question Id : 9380664231 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following statements:

A. The notion of ‘Policy Sciences’ emerged with the publication of “Policy Orientation” article by
Harold Lasswell in 1951.

B. Harold Laswell proposed that policy sciences can be created by combining the knowledge of
academic disciplines with real world politics for solving social problems.

C. According to Harold Lasswell, Policy Sciences are concerned with the knowledge of and in
decision processes related to public and civic order.

D. Harold Lasswell viewed that public order decisions may have antecedents in civic order
decisions in non-totalitarian regimes.

Choose the correct answer from the options given below:

1. A, B and C Only
2.B, C and D Only
3. A, Cand D Only
4. A.B,Cand D
Options :
93806616465. 1
93806616466. 2
93806616467. 3
93806616468. 4



Question Number : 117 Question Id : 9380664231 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FfdRad Syl W fdaR &

A. <ifd faqi &1 f4Gid 1951 T gRItS dRadd gRT Ulferdl 3RS o & bR &
1Y FgHd g3l

B. g1 ARG dd - URdfdd fabar fab i faqm, amnfore gaarsi & gar & fou
%mﬁaﬁ%mﬁﬁ&m%ﬁmﬁﬁ%wﬁ%w: gisrd faban S Yabd
|

C. U AR d & IR, HIfd fag grdeiiie 2R fRfde saawin ¥ dferd i
fsharait & I 9 Hefia g1

D. BRIt AREd & TR TR-HASHa1d] F1 yonferat # Rifdes ogawr ol & die
Al (Avial &1 gdafddrd gl gl g

i3 oy U et 98 SR

1. $ad A, B3R C
2. $had B, C 3R D
3. HAd A, C 3R D
4.A,B,C3RD
Options :
93806616465. 1
93806616466. 2

93806616467. 3
93806616468. 4




Question Number : 118 Question Id : 9380664232 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct?

A. Convergence thesis of agenda setting given by Michael Hill argues that countries tend to
converge towards the same policy mix as they industrialize.

B. Policy Monopoly Model of Peter Hall advocates that agenda setting process is greatly
influenced by specific subsystem actors in a monopolistic manner.

C. Cobb and Elder specified ‘systemic agenda’ and “institutional agenda’ as the two basic types of
policy agenda that can be identified in a political system

D. John Kingdon proposed Policy Windows model in which three independent streams (problem
stream, policy stream and politics stream) converge to open a policy window and permit certain
issues to reach governmental agenda.

Choose the correct answer from the options given below:

1. A and B Only
2.B and D Only
3. Aand C Only
4. C and D Only
Options :
93806616469. 1
93806616470. 2
93806616471. 3
93806616472. 4



Question Number : 118 Question Id : 9380664232 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FHfcRad § U SIY Sy Id g2

A. HI3dd [gd gRI UGd ToisT FYURU & SR 2y UeY & AR o2 ooy
EIRTD D Bid @, d T =il IS0 &1 3R SR Bid g

B. UleR B1d &1 Hifd UHIUSR AlSd ddb odi g fdb Uolal HUR Uikl tahiidsrdrg! ifd
4 fafry Iuuviell dR®! gR1 3i@i®d yyifdd gidi g1

C. D19 3R UeS - 'HaRYd TolaT 3R YA Tl ST Bl Hifd TSIST & al ATURYd UHRI
& ¥0 H faffEy far S faedt Ieifas el 7 fgd fou o1 9ad g

D. Sii9 fdhired = Hifd 7Tare) Higd udanfad foar, forgw Hifd Tare @ie 3R WHRI ol

dd HIAud Gl H1 Ugd & foIu, T Wad 4RIT (O™ 4R1, i 9RT 3R A-id 4R
SR gidl g1

i3 oy U et 98 SR

1. $ad A 3RB
2. $ad B AR D
3. HAAd A AR C
4. ®dd C 3R D

Options :

93806616469. 1
93806616470. 2
93806616471. 3
93806616472. 4



Question Number : 119 Question Id : 9380664233 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is/are correct regarding Pradhan Mantri Jan Arogya Yojana
(PM-JAY') ?

A. It provides for a cover of Rs. 5 lakhs per family per year for secondary and tertiary care
hospitalization

B. [Itcovers upto 10 days of pre hospitalization and 20 days of post hospitalization

C. There is a restriction on family size for treatment

D. It provides for a cover of Rs. 2 lakhs per person.

Choose the most appropriate answer from the options given below:

1. Aonly

2.B and C only

3. A,Band D only

4. B and D only
Options :
93806616473. 1
93806616474. 2
93806616475. 3
93806616476. 4

Question Number : 119 Question Id : 9380664233 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UYTHA] O R IS (PM- JAY) & aR H [HgfaRad # U o S I g2

a.aﬂﬁfﬁ?ﬂugsh?ﬁwﬁ@umwﬁrﬁﬁm%muﬁaﬁmﬁuﬁaﬁsmw

CARMGHIE ]

B. 397 el § Yl gH Y gd & 10 f& 3fR 3Rudrd 9 gei e & 916 20 fa dd @l
3{d % M BT Scl

C. SUAR & fel URGR & 3HR IR Ulda= g |

D. 39H Ufdaaidd 2 Rd ¥UU &I Uy g |

1. Had A

2. HIdB AR C
3. $dd A, B3R D
4. HAA B 3R D

Options :

93806616473. 1
93806616474. 2
93806616475. 3
93806616476. 4



Question Number : 120 Question Id : 9380664234 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following Articles unber Directive Principles of State Policy of the Constitution of
India based on Socialist Principles?

A. Article 42
B. Article 40
C. Article 44
D. Article 43

Choose the most appropriate answer from the options given below:

l. A and C only
2.B and D only
3. A, B, and C only
4. A and D only

Options :

93806616477. 1
93806616478. 2
93806616479. 3
93806616480. 4

Question Number : 120 Question Id : 9380664234 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YRd & Gidy 4 I & Hifd- ez Rigidl & siarid Fafeiad 4 9 oY sifwie
THSIIG] Rl 9 S g2

I feu e fddhed! & wgl 3R -

. Had A AR C

2. $IAB AR D

3. Hdd A, B, AR C

4. HAd A 3R D
Options :
93806616477. 1
93806616478. 2
93806616479. 3
93806616480. 4



Question Number : 121 Question Id : 9380664235 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements related to the New Public Management are correct?
A. The impetus came from fiscal crises

B. Associated with neo liberalism

C. Developing countries contributed the core ideas

D. It is an extension of Public Choice school

Choose the most appropriate answer from the options given below:

1. A, B and C Only
2.B, C and D Only
3. A, CandD Only
4. A, B and D Only

Options :

93806616481. 1
93806616482. 2
93806616483. 3
93806616484. 4

Question Number : 121 Question Id : 9380664235 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

44 T ey I Ydfaa Fafaied § 9 oY $Y1 9d 82

A. ISDH N el U Gl 3

B. 1d 3GRAG 4 Udg

c. [abraeiid o= 4 g faar] &1 aieH fean
D. Ug Yrdu-d 994/ [dded IRAT &1 [d&IR @

AId feu Y fddhed! | wgl 3R -

|.$ddA, B3R C
2. &daB, C 3R D
3. HadA, C 3R D
4. hddA, B 3R D

Options :

93806616481. 1
93806616482. 2
93806616483. 3
93806616484. 4




Question Number : 122 Question Id : 9380664236 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following are the Good Governance Indicators?
A. Accountability

B. Rule of law and human rights

C. Transparency

D. Performance Appraisal

Choose the appropriate answer from the options given below:

1.A,B.Cand D

2. A,Band C Only
3. A, Cand D Only
4. B, C and D Only

Options :

93806616485. 1
93806616486. 2
93806616487. 3
93806616488. 4

Question Number : 122 Question Id : 9380664236 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frafafad 7 ¥ o118 g dbhds 82

A. SIardeigd

B. [a1¥] &1 A 3R AHAIYSR
C. URGIRId

D. [TwITe Heaid

1A Fow U et 98 SR

I.A,B.C3RD

2. Had A, B3R C
3. Hdd A, C 3R D
4. hdd B, C 3R D

Options :

93806616485. 1
93806616486. 2
93806616487. 3
93806616488. 4



Question Number : 123 Question Id : 9380664237 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the types of validity in Quantitative Research?

A. Face and content validity

B. Concurrent and predictive validity

C. Constructive validity

D. Factorial design validity

Choose the appropriate answer from the options given below:

1. A, B and D Only
2.B and C Only

3. A, Cand D Only
4. A, Band C

Options :

93806616489. 1
93806616490. 2
93806616491. 3
93806616492. 4

Question Number : 123 Question Id : 9380664237 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFfRad # U BIY AEdAS WY H d4dl & UDR g2

A. A 3R [T g¥d ded
B. Y44l 3R ydiqaa deyd
C. TS el

D. HR® A YDHeT dedl

1A Fow U et 98 SR

|.Hdd A, B3R D
2. HadB 3R C
3. Hdd A, C 3R D

4. A, Band C
Options :
93806616489. 1
93806616490. 2
93806616491. 3
93806616492. 4




Question Number : 124 Question Id : 9380664238 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following sampling designs, it is imperitive that each element in the population
has an equal and independent chance of selection in the sample?

A. Random Sampling

B. Probability Sampling

C. Quota Sampling

D. Snowball Sampling

Choose the most appropriate answer from the options given below:

1.A,B.Cand D
2.B and C Only
3. Aand B Only
4. B, C and D Only

Options :

93806616493. 1
93806616494. 2
93806616495. 3
93806616496. 4

Question Number : 124 Question Id : 9380664238 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Frafeiad # 9 {6y ufdexiq (S8 3§ g Sawad g i ose ¥ Udd dd &I ufdad o
I B §ER 3R WA TR gl?

A. UIei<sd UldaeH
B. UTiAddl Ufda=iH=
C. dler ufdaeiH

D. fgAdgd Ufdaz=
I feu e fddhed! & wgl 3R -

I.A,B,C3RD
2. HadAB 3R C
3. Had A 3R B
4. HAd B, C 3R D

Options :

93806616493. 1
93806616494. 2
93806616495. 3
93806616496. 4




Question Number : 125 Question Id : 9380664239 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is correct regarding the Composition of Public Accounts
Commuttee (PAC) of the Indian Parliament?

A. The Total Strength of the PAC is increased to 22 in the year 1953

B. Outof 22 members, 14 are from Lok Sabha and 8 are from Rajya Sabha

C. The members of the PAC will be elected annually

D. The second ARC recommended for an equal size of members from both houses.
Choose the appropriate answer from the options given below:

l.A,Band C
2.B, C and D only
3. Aand C only
4. A, B and D only
Options :
93806616497. 1
93806616498. 2
93806616499. 3
93806616500. 4

Question Number : 125 Question Id : 9380664239 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HRAI UG $I didh oikal HiHld (PAC) DI TREH) Teed & aR H [HHfRad H 8 o4 J HUA
94 g2

A. dY 1953 T PAC B Yo YT IR 22 DI 15 Al

B.22 UG H Y, AHOHT Y 14 AR AT HT Y s G gid g |

C. PAC & Uad| &l [HalaH aiftie MR U= g

D. fgdlg TRl o SHi TeHl & fou gur S @ Yaddl &1 d3dfd &1 TS ¢ |

- feg g fadeat # wgl SR I:

l.A,Band C

Z.WB.CandD
3. Hdd Aand C
4. HAd A, Band D

Options :

93806616497. 1
93806616498. 2
93806616499. 3
93806616500. 4



Question Number : 126 Question Id : 9380664240 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

List I - Civil Service Reforms Committees List IT - Year
A.|Kothari Committee I. 12004
B. | Satish Chandra Committee II. | 2000
C.| Y.K Alagh Committee II1.| 1974
D.|P.C. Hota Committee IV.[1988

Choose the correct answer from the options given below:

lLA-LB-II,C-IILLD-IV
2ZA-IVB-III,C-II,D -1
3JA-IILLB-IV,C-II,D-1I
4. A-LB-II,C-1IV,D-1II

Options :

93806616501. 1

93806616502. 2

93806616503. 3

93806616504. 4

Question Number : 126 Question Id : 9380664240 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y Geil-11 D1 e i

1 -I1

PISR] gffa 1. |2004

RRIFIEFEIEIT] IL. | 2000

dIs. &. 3cd giHfd 1L | 1974

. 4. giar gfafa V.| 1988

LB-II,C-IIILD-1IV

IVB-M,C-I,D-1

II,B-1V,C-1ILD-1
4. A-LB:Il,C~IV,D-I1

Options :

93806616501. 1

93806616502. 2

93806616503. 3

93806616504. 4

A.
B.
G
D.
1 feu U f[ddhedl H O U8l IR &1 98- SIS
A
W
A-

1.
2.
24



Question Number : 127 Question Id : 9380664241 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

List-1
Paradigms of Public Administration by List II - Period
Nicholas Henry
e quhc Administration as Political 1 11927 1937
Science
B Pu bll:c {—Xdlm._mstratmn as Public i 1950 - 1970
Administration
C.| The Principles of Administration II.[ 1956 - 1970
D.|Public Administration as Management IV.| 1970 Onwards

Choose the correct answer from the options given below:

O - g ) G B O |
2ZA-ILB-1IV,C-IILD-1
LA RB_IC-TED-TV
4 A-IILB-IVC-LLD-III

Options :

93806616505. 1

93806616506. 2

93806616507. 3

93806616508. 4



Question Number : 127 Question Id : 9380664241 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

Tl I
Foiad 88 g1 ol TRITEA & e rafy
A eI fagiH & U H did U= I [1927-1937
B. |l U= & ¥4 & dldh YRR L. | 1950-1970
C.|u=mH & gl IIL.| 1956-1970
D. |Wee & U ¥ dld U=ITE V.| 1970 9
I feu T fad el & 4 Igl 3R &I 99 Biforu -

ILA-IVB-II.C-II,D-1I
2.A-ILB-IV.C-IIILD-1
3J3JA-ILB-LC-II,D-1V
4 A-II.B-IV.C-LD-III

Options :

93806616505. 1

93806616506. 2

93806616507. 3

93806616508. 4

Question Number : 128 Question Id : 9380664242 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

List I — Major Landmarks in New Public

Administration List II - Year

A.|The Philadelphia conference I. 1971

B.| The Second Minnow brook conference II. | 1967

c Pu bllicatmn of Public Administration in 1 | 1988
the time of turbulence

D.| Third Minnow brook conference IV | 2008

Choose the correct answer from the options given below:

s e o W R 0
II,B-1,C-IV,D-III
. B0, C-T, D IV
4.A-I,B-1,C-M,D-IV

1.
2.A-
3.A-

Options :

93806616509. 1
93806616510. 2
93806616511. 3
93806616512. 4



Question Number : 128 Question Id : 9380664242 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y Gl -1 D1 e i

a1
T8 @i TR # T g T

A.|Tharefera gmaa I (1971

B. |fadia ffEd g THaH IL. [ 1967

C iyl S AR RH AR 3l IIL. | 1988

D. | i fAdld b ga IV.|2008

i< 13U 77U [dd el § U Ul 3R &1 98- Do -

A-I,B-II,C-III,D-1IV

H.B=1;C-IV D«

H.B-H. C-T.D-P
4A-I,B-1,C-II,D-1IV

Options :

93806616509. 1

93806616510. 2

93806616511. 3

93806616512. 4

1.
2.A-
3.A-



Question Number : 129 Question Id : 9380664243 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

List I — Types of Bureaucracies by Anthony Downs List II — Explanation
) Concerned with their power, income and
A.|Climbers L : P
prestige
Highly motivated officials committed to
B.|Conservers II. ;
push for a policy
C.|Zealots I1I. | Concerned with minimizing change
Who sees their interests in terms of
D.| Advocates IV. S :
maximizing the role of their bureau.

Choose the correct answer from the options given below:

1. A-
2.A-
3.A-
4. A-

Options :

I.B-III,C-II,D-1IV
nI,B-1,C-1III,D-1IV
I.,B-II,C-III,D-1IV
IV,B-1,C-II,D-1III

93806616513. 1
93806616514. 2
93806616515. 3
93806616516. 4




Question Number : 129 Question Id : 9380664243 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

-1 -
Yt ST9T gRT HIPIRe! & TR T
A.|garEsy I |2ifdd, 3ma 3R uiay ¥ deied
. Tl Hifa &l Al dgH & folu 3rafds
B.| gy IL | ap sforer
C.|Sitdeq L | GRS AT 3 J et
Sl 304 &R 6l YDl dgiH & el o
D.|ggdidre V| o fdi 31 2 8
A faU U fdd el & T Ul 3R &1 98- Difelu -
l.A-I,B-I,C-II,D-IV
2.A-II,B-1,C-NI,D-1IV
3. AL Bl C=N -1V
4 ATV, Bul,C:oII, DI
Options :

93806616513. 1
93806616514. 2
93806616515. 3
93806616516. 4




Question Number : 130 Question Id : 9380664244 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

List I — Articles of the Constitution of India List IT - Provisions
A | Article 77 L Ext_ent of the Executive Power of the
Union
B.| Article 78 I1. |Powers of President to grant Pardons
c | Article 72 0L C ondu.ct of business of the Government
of India
D.| Article 73 IV. | Duties of the Prime Minister of India

Choose the correct answer from the options given below:

lL.LA-I.B-III.C-ILLD-1IV
2A-IMI.B-1,.C-1II.D-1V
3JA-IMI.B-IV.C-II.D-1
4 A-IV,B-III.C-II.D-1

Options :

93806616517. 1

93806616518. 2

93806616519. 3

93806616520. 4

Question Number : 130 Question Id : 9380664244 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i1 & 1Y Y11 D1 e Hifoie:

m%ﬁ%ﬁﬂgﬂiaﬁﬁz L
A.| 3wG 77 L | {9 &1 druIferd! Afdd o [
B.| ara¥g 78 IL. | TG UG - i IPufd oI e
C.| 3 @G 72 I1L | HRd WER &1 S Jdra-
D.| 3G 73 IV. | HRd & UYHA & S
Id feu Y fddhetl & 9§ Hel SR &1 98- Pifore ;

lLLA-I,B-III,C-II,D-1IV
2Z2A-MI,B-1,C-II,D-1IV
3JA-II.B-IV,C-II.D-1
4 A-IV, B-III ,C-1I,D-1

Options :

93806616517. 1

93806616518. 2

93806616519. 3

93806616520. 4



Question Number : 131 Question Id : 9380664245 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-T with LIST-II

List I-Schedules of the Constitution of India

List IT- Provisions

Allocation of the Subjects between Union

A.|Fourth Schedule and States

B.|Seventh Schedule II. | Disqualification on grounds of defection

¢ | Ninth Schedule I Allocation of seats in the Council of
States

D | Tenth Schedule v Immunity from Judicial review to certain

acts

Choose the correct answer from the options given below:

1. A-IV,B-1,C-1I,D-1II
22A-III.B-1I,C-II.D-1IV
33JA-1,B-III,C-1IV,D-11

4 A-MI.B-I1,C-IV.D-1I

Options :

93806616521. 1
93806616522. 2
93806616523. 3
93806616524. 4




Question Number : 131 Question Id : 9380664245 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 91y Yeila &1 e difsre:
Wﬂ?ﬂﬁﬁ;ﬁaﬂﬁﬁw Lol
AR ey I |49 3R Il & €< fawdl &7 aide
B. [Gredl 3yl I1. | Sefead & YR TR fHRed
C. |t 3 IIL | 1o §HT H Hicl &1 3iide
Y ERE - Sidqy ffaaal ol s griien g
AId feu 7Y fadhetl & § Tl SR &1 98- i ;

l.LA-IV.B-1.C-II.D-1II
22A-III,B-1.C-1II,D-1V
3JA-I.B-III,C-IV,D-1I
4A-IMI.B-1,C-IV.D-1I

Options :

93806616521. 1

93806616522. 2

93806616523. 3

93806616524. 4



Question Number : 132 Question Id : 9380664246 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

List I- Committees on Local governments List II- Recommendations
. Constitutional Status for Panchayat Raj

A.[Ashok Mehta committee O y J

institutions
. . . Direct Participation of Political parties in

B.|L M Singhvi Committee II. penan P
Panchayvat Raj institutions

C.| Girdhari Lal Vyas Committee III. [ A three —tier system of Panchayat Raj

D.|Balwantray Mehta Committee I'V.| Statutory Recognition to Gram Sabha

Choose the correct answer from the options given below:

1. A-
2.A-
3.A-
4. A -
Options :

ILB-I,C-III,D-1IV
n.B-1,C-1IV,D-III
B-II,C-IV,D-III
B-

I,
I,B-II,C-II.D-IV

93806616525. 1
93806616526. 2
93806616527. 3
93806616528. 4




Question Number : 132 Question Id : 9380664246 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

e e R st
A.| 3 Agdr afafa I | ORISR & fou daen=s gl
. Ul 1o G H oD Gall B
B.|uetuH fgdi gfafd L. | rees TR
C. | FRYRT el O gt 111 | 2R YIRS
D.|dddd g Hgdl 9iafd IV. | 91H 9HI &1 d4THD ATl
d feu U f[adheul © O Ugl IR &1 994 HIf
l.LA-ILB-I.C-III.D-1IV
22A-II.B-1.C-1IV,D-1III
3JA-I.B-II.C-IV.D-1III
4 A-I,B-II,C-III.D-1IV
Options :

93806616525. 1
93806616526. 2
93806616527. 3
93806616528. 4




Question Number : 133 Question Id : 9380664247 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

List I- Institutions and Associations List IT- Year of Establishment/ closure
% A. Establishment of American Society 1 1930
"| for Public Administration '

B. The Journal of Comparative
= Administration ceased to exist L1963

C. Disbanding of Comparative
o Administrative Group Ll
D D. Esltalbhsh.men‘[ of Comparative v 1974

Administration Group

Choose the correct answer from the options given below:

I AT Bell €W D=l
D AT BV G D
3.A-1, B-M,C-IV,D-1I
B

4 A-1I -mI,C-1IV,D-1

Options :

93806616529. 1
93806616530. 2
93806616531. 3
93806616532. 4



Question Number : 133 Question Id : 9380664247 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y GEl-11 BT T Hifoie:

T i

T 3R Ty RITTAT 94

A tﬁ_{ I. [1939
| TSR B R '

g |T& STt ifp HrRfeT Tffe=r o1
| 31T gHT

IL. | 1963

HuRfeq TsfAfed qudrfaged  |mL|1973

SR TsffFRfea quat R |1v.| 1974

B-1I,C-IV,D-III
BV, Cull D1
B-II,C-IV,D-II
BI, C<IV. D]

&

D.

+1d fGU 0 fadhedl H O U1 I &1 98 Hifolu -
CA-T,

sl

AT,

4. A-T1
Options :
93806616529. 1
93806616530. 2

93806616531. 3
93806616532. 4



Question Number : 134 Question Id : 9380664248 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

List I- Models List II- Values
A.|Industria I. |Attainment
B.|Fused II. | Existence of egalitarian class
C.|Prismatic IIL. | Particularism
D. | Diffracted IV. | Achievement

Choose the correct answer from the options given below:

A-I,B-II,C-III.D-1IV

A-T.B-M,C-I,D-1IV

A-III,B-IV,C-1I,D-1I
4 A-I,.B-IV,C-1,D-1II

Options :

93806616533. 1

93806616534. 2

93806616535. 3

93806616536. 4

I:
2
3.

Question Number : 134 Question Id : 9380664248 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y i1 o1 e i

Sl T
HISd Hed
A g3 I |qfer fafs
B.| WS IL | GAHCS 97 &I 3if&id
c.|fUsafes 111 | faRrFarare
D.|fSTHiacs IV. | 3Uaifed
1 TaU U fddedl § U Ul 3wk &1 94+ Difolu -
lLA-I.B-II,C-III.D-1IV
2A-II,B-III,C-1I.D-1V
JJA-III.B-IV,C-1.D-1I
4. A-M,B-IV,C:-I,D-1I
Options :

93806616533. 1
93806616534. 2
93806616535. 3
93806616536. 4



Question Number : 135 Question Id : 9380664249 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

List I- Government Initiatives List I1- year
A.|National E- Governance Plan Launched | I. |2015
B.|Digital India Mission Launched II. | 2006
C.|Right to Information Act passed III.[2019
D.|First Chairman of Lokpal was appointed |IV.|2005

Choose the correct answer from the options given below:

lLA-III,B-1,C-IV,D-1I
2ZA-IV,B-III,C-II.D-1
3.JA-II,B-1,C-1IV,D-1III
4. A-1,B-II,C-1IV,D-1III

Options :

93806616537. 1

93806616538. 2

93806616539. 3

93806616540. 4

Question Number : 135 Question Id : 9380664249 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y Geil-11 D1 e i

A.| T8 S-I1a-14 IS b1 3T I |2015

B.|fsfored Sfsar i «f I@3ima IL. | 2006

C. | =1 P1 SR AfTA ikd III. (2019

D. | < UTd DT YA 3fenaf fHgad IV.| 2005
- QU T fadbetl # 0 Ut SR &1 997 Bifor -

1.A-III,B-1,C-1IV,D-1I
2Z2A-IV,B-III,C-II.D-1
3JA-II,B-1,.C-1IV,D-1II
4 A, Bl €=V, D=1l

Options :

93806616537. 1

93806616538. 2

93806616539. 3

93806616540. 4



Question Number : 136 Question Id : 9380664250 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

List I- Variables in Research

List IT- Concept

A.|Independent Variable

Bring change in a phenomenon or
Situation

Change brought by introduction of

B.|Dependent Variable II. Sndeperiont vaiable
& | Extiancons Visiable e Lmlks the independent and dependent
variable
Bring change in the strength of the
D.|Intervening Variable IV. [relationship between independent and

dependent variables

Choose the correct answer from the options given below:

lLA-IMI,B-1,C-IV,D-III
22A-1,B-II,.C-III.D-1IV
X5 B -, 61V M- HE
4 A-III.B-II,C-1.D-1IV

Options :

93806616541. 1

93806616542. 2

93806616543. 3

93806616544. 4




Question Number : 136 Question Id : 9380664250 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y Y11 &1 e sifse:
SeiE Sl
L E TR
AlGdE =R 1. |t ufveren ar f&ufd & gRad= aFn
B.|3MAd =R 1L |&Gcid IR & YA gRI URddH Ml
C.|d1gl 3T @R 11 | &G4 3R 3M%d =R Bl SHel
. W 3R T <R & &g TdY DI
D. | SfeRefl =R V. | rfeee & ke @
d feu U f[adheul © O Ugl IR &1 994 HIf

lLLA-II.B-1I,C-IV,D-III
22A-1.,B-I.C-II,.D-1IV
3JA-I.B-II,C-1IV,D-1III
4 A-III.B-II.C-1.D-1IV

Options :

93806616541. 1

93806616542. 2

93806616543. 3

93806616544. 4



Question Number : 137 Question Id : 9380664251 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

List I Sampling Methods List II- Concept

A.|Accidental Sampling I. |Based on Convenience

B. | Expert Sampling II. | Based on Expertise of the Respondent
C.|Snowball Sampling III. [ Sample Using Networks

D. | Systematic Sampling IV. g;tt}jpﬁzlgld doel;;l;d ik B s [y

Choose the correct answer from the options given below:

lLA-I,B-II,C-II,D-1IV
2.A-1,B-II,C-1IV,D-1II
3.3A-I,B-1,C-III,D-1IV

4. nI,B-1,C-1V,D-1II

Options :

93806616545. 1
93806616546. 2
93806616547. 3
93806616548. 4



Question Number : 137 Question Id : 9380664251 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Y1 & 91y Yeila &1 e difsre:
A.| giaifie ufdezia L [Gfaur o iR
B. | {32y ufaee IL |UGRB Al B [ARINIIAT UR SR
C.|fgudg® ufdezH IIL. [Aeddh YT 6 ara Ufdal
i AR R-AEse (AEq), @t
D.|0ai¥yd ufdasH g Nl
+d faT 71U fddredl § U Ul IR &1 98- Difold :
l.LA-I.B-II,C-III.D-1IV
2.A-1,B-I1,C-1IV,D-1III
3JA-II,B-1.C-III.D-1IV
4 A-II.B-1,C-IV,D-1II

Options :

93806616545. 1
93806616546. 2
93806616547. 3
93806616548. 4




Question Number : 138 Question Id : 9380664252 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

List I — Definitions of Public Policy

List II- Proponents

The Decisions giving direction,
coherence, continuity to the courses of
action for which the decision making
body is responsible.

James Anderson

A purposive course of action taken or
adopted by those in power in pursuit of
certain goals or objectives.

II.

Thomas R. Dye

An authoritative allocation of values for
the whole society.

I1I.

B. Guy Peters

Whatever governments choose to do or
not to
do.

. |David Easton

Choose the correct answer from the options given below:

1.LA-IIILB-1,C-IV,D-1II

2A-II,B-1IV,C-TI,D-1
3JA-IV,B-1,C-II,D-1II
4 A-IMI, B-0I,C-1,D-1IV

Options :

93806616549. 1
93806616550. 2
93806616551. 3
93806616552. 4




Question Number : 138 Question Id : 9380664252 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

i s A

3 H1Als Uy I f&=, i,
A | FRARA UG &A1, o fot [HoieH- | L | oy TeeH
SHTS ITRar gl

HIdug dedl g1 32| Dl UK & &
B.|folU OiH avf gRIfera T/ 3yar - | I | 4TH9 3R S8

3ifipd febar 7T SeRaqul HRarg gy

Gyt §HTS & fo1U Hebl T I-TRIg
c. |4 1L |t 7 died

IRBR Sl B Ul Tol B S I
Dl i 21 Iv. | Sfds TeeA

+d faU 71T fddredl & U Ul IR &1 99 Difole -

l.LA-IILB-1.C-IV,D-1II
2Z2A-II.B-1IV,C-III.D-1
JA-IV,B-1.,C-II,D-1III
4 A-IMI,B-II,C-I.D-1IV

Options :

93806616549. 1

93806616550. 2

93806616551. 3

93806616552. 4



Question Number : 139 Question Id : 9380664253 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

List I- Content List I1 — Types
Allocation of benefits or services at no !

A. I. |Regulatory Policy
charge
Impose restrictions and limitation on the L .

B. P II. | Distributive Policy
behaviour of groups d
Concerned with the changing the N .

5 P G e sius III. | Redistributive Policy
distribution of existing resources
Concerned with setting up or . )

D. = S IV. | Constituent Policy
reorganisation of institutions

Choose the correct answer from the options given below:

lL.LA-III,B-I,C-IV,D-1I
2A-ITI.B-1,.C-IIIL,D-1V
3JA-I,B-III,C-IV,D-1I
4 A-IMI,B-II,C-I.D-1V

Options :

93806616553. 1

93806616554. 2

93806616555. 3

93806616556. 4




Question Number : 139 Question Id : 9380664253 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

Al IIEF;I
A.| ot a1 YTt &1 fa 1 Yeob 3fided | L |fafamsig ifd
gl & FagR WR Ufdde 3R T
Bl i e I ERRYUGCANEIIT]
€ @liillﬁliﬂ'ﬂﬂ?ﬁaﬂ RO IR P 111 | g iR U™ Hifd
D. E:Eﬁ' 6T RITTT Sl G 1S ¥ IV. |9/ 3dgq Hifd
i< 14U U [qd el § U Ul 3Tk &1 94 Dol -

b SHE B E S D
2 KB 1 B
3o X1, B, AV, DT
4.A-TM,B-I,C-1,D-1IV

Options :

93806616553. 1
93806616554. 2
93806616555. 3
93806616556. 4




Question Number : 140 Question Id : 9380664254 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

List I — Parliamentary Committees List IT- Year of Establishment
A.|Committee on Subordinate Legislation. I 1921
B. | Estimates Committee. II. [1964
C.| Committee on Public Undertakings III. | 1950
D.|Public Accounts Committee IV. | 1963

Choose the correct answer from the options given below:

1.A-III,B-I,C-1IV,D-1I
2A-ITI,B-1,C-MI.D-1V
3.JA-I,B-II,C-IV,D-1II
4 A-IV,B-II,C-II,D-1I

Options :

93806616557. 1

93806616558. 2

93806616559. 3

93806616560. 4

Question Number : 140 Question Id : 9380664254 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y Geil-11 D1 e i

T 1
Haag afufaat R 99
A. | 3iefiRy faur dddt afafa I. 1921
B. | Urdha- 9iafd II. [ 1964
C. | < IushH Tffifd IIL [ 1950
D.| % ol Giafd V. [ 1963
Hid faU 71T fddhetl & 4 Tl IR BT 989 Difolu

lLA-III,B-I,C-1IV,D-1II
2A-II,B-1,C-III.D-1IV
33J.A-1,B-II,C-IV,D-1II
A ATV, Belll C:I, Dal

Options :

93806616557. 1

93806616558. 2

93806616559. 3

93806616560. 4

Sub-Section Number : 2

Sub-Section Id : 938066173



Question Shuffling Allowed :



Question Id : 9380664255 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

Read the following passage and answer the question:

A financial bill may be considered as any bill which relates to revenue or expenditure. A bill
called as Money bill is as defined under Article 110 related to six provisions. It has been laid
down in Article 109 of the Constitution of India that a money bill shall not be introduced in the
Rajya Sabha. After a money bill has been passed by the Lok Sabha, it shall be transmitted to
Rajya Sabha for its recommendations. In turn, the Rajyva Sabha, within a period of fourteen days
of its receipt of the bill, shall return the bill, with its recommendations to the Lok Sabha, which
may accept or reject all or any of the recommendations of the Rajya Sabha. In case any of the
recommendations is accepted, the money bill shall be deemed to have been passed by both the
houses with said amendment. But at the same time, if the Rajya Sabha has not returned the
money bill within a period of fourteen days, it is deemed to have been passed by both the Houses.
Thus in the matters of money bills, the primacy and supremacy of the Lok Sabha is well
established. Further, under Article 111 of the constitution, the President of India may withhold
assent to ‘not a money’ bill passed by the Parliament and he may return such a bill to the
reconsideration.

Sub questions

Question Number : 141 Question Id : 9380664256 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As per the passage, under Article 111 of the constitution, the President of India:

. may refer to Rajya Sabha for reconsideration for money bill

. may withhold assent to ‘not a money” bill passed by parliament
. may call for the both houses joint meeting for recommendation
4. may sent to legal experts for opinion

lad g =

Options :

93806616561. 1
93806616562. 2
93806616563. 3
93806616564. 4

Question Number : 142 Question Id : 9380664257 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



After a money bill has been passed by the Lok Sabha, it shall be transmitted to:

A. Rajya Sabha for its recommendations

B. If it has not returned within a period of 14 days, it will send to Joint meeting of the both the
houses

C. If it has not returned within a period of 14 days by Rajya Sabha, deemed to have been passed
by both the houses

D. If it has not returned within a period of 14 days it has to be certified by the Chairman of Rajya
Sabha to send it back to Lok Sabha

Choose the correct answer from the options given below:

1. A, B and C Only
2.B, C and D Only
3.A. Cand D Only
4. A and C Only
Options :
93806616565. 1
93806616566. 2
93806616567. 3
93806616568. 4

Question Number : 143 Question Id : 9380664258 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As per the passage, the Money bill is defined under Article?

1. 109

2.110

3. 111

4. 112
Options :
93806616569. 1
93806616570. 2
93806616571. 3
93806616572. 4

Question Number : 144 Question Id : 9380664259 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A money bill can be introduced in:

1. Lok Sabha only
2. Rajya Sabha only
3. With the approval of Speaker in any of the House
4. With the approval of President in any of the House
Options :
93806616573. 1
93806616574. 2
93806616575. 3
93806616576. 4



Question Number : 145 Question Id : 9380664260 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Rajya Sabha, after receiving the money bill from the Lok Sabha, it:

A. may return the bill within 14 days to Lok Sabha

B. may suggest Reccommendations to the bill and Lok Sabha may accept or reject any
recommendations

C. may not return the bill within 14 days

Choose the correct answer from the options given below:

l.A,Band C

2. A, and B only
3.B and C only
4. A and C Oanly

Options :

93806616577. 1
93806616578. 2
93806616579. 3
93806616580. 4



Question Id : 9380664255 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

fHrafered srgwoe g 3R i & Ix difvie:

fopt ot U faeaes o1 T faeg e A1 1 SaadT 8, Sl oikd a1 o9y 9 Yafed g1 o faegd
g oI dicl fa8aed BI 3=dq 110 U Ydid ©g Suddl I aRyIfRd fbar a1 g1 YRd &
Gfde & 3 =dq 109 1 gg (HuiRd fdhar a1 § o U o faeigs I gur o g3 -1t =gt
fHgT ST | i U1 §RTUTRG fHU S & 916 4 [q99e6, 509U Sl ITDT FAHIR &
foTe WU foar oI g | farell 4 RIeIRE & Widd giH &1 o= H, ¢ [dead® qHl el gRI
Fod TR o 1Y TTiRd g3 AT Se | foheg 591 & |1y, Afe Isaqy dicg fe-i o 3afy
H o [qeae &I 9199 -1g1 dicrdl 3, dl 98 &l el gRTUTRd |1 SITQ | 3id: ¢+ faead]
& A § AihaH B WA dl 3R Hdiedal GRIUd g1 3R of, fde & s 111 &
3faiid, YURd DI APURd <4 fa8gd 981 14 IR T9¢ gR1 UIikd fq8ae! W 3l Ad
bl § dUT 98 U8 [a8gd YAIGTR & fo1g olier Gadi ¢

Sub questions

Question Number : 141 Question Id : 9380664256 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
3G & AJHR, WA & =3¢ 111 b AATId, HRd ST APUfc:

1. ¢4 fa8ged @ (o7 I 9HT 6l GHIGIR & [T Taiifa o 9dbdli g

2. YE gRI UIikd o+ faeae g1 g4 WR fa8ae &t 2 afd Ad Yhdl g
3. TUHTRRI & fo1T & el & GYdd oD gl Udbd o

4. 7l T9aR & o0 fafire fa=ivl &1 U o di 8

Options :

93806616561. 1
93806616562. 2
93806616563. 3
93806616564. 4

Question Number : 142 Question Id : 9380664257 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Ud 4 fq8Td did I gR1 UIRd fHU S & U4Tq, I8 fdd Sl S

A. I GHI I 3UP] RIBIREN & forw
B. If¢ I8 14 f&H1 H a109 g1 dier STl 8, ol g aFl Jadl i S d&d H YSll SIum
c. af¢ g I I gRI 14 &A1 & 919y A8 dierl Siid1 g, di &4 ¥a-! gk utid A1

Sl
D. ¢ T8 14 & &t @iy H diern 71 SaT g, di Tg Iod IHT & GHTATd gRI UAId
0T SIHR A9 BT H HSI SIe|

i3 fow U el 4 98 SR G

1.Pad A, B3R C
2. Hdd B, C 3R D
3. HAd A, C 3R D
4. HAd AR C

Options :

93806616565. 1
93806616566. 2
93806616567. 3
93806616568. 4

Question Number : 143 Question Id : 9380664258 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
39 3gwe & YR, ¥4 [a89ud (6 sfwse H yRYINd 82

1. 109
2.110
3.111
4.112
Options :
93806616569. 1
93806616570. 2
93806616571. 3
93806616572. 4

Question Number : 144 Question Id : 9380664259 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o faeige foaw OR: RIIfud fdar o i g2

1. Had dld YHI
2. Bad o T
3. Wi & AT & d1¢ [l Wl g1 o
4. APURA & fFAIG & o1 o il G-I H

Options :
93806616573. 1



93806616574. 2
93806616575. 3
93806616576. 4

Question Number : 145 Question Id : 9380664260 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AIBTUT Y ¢ [T U B & GYI, ISTHHT 34:

A. 14 &A1 1 dioaY I el Gdbdl §

B. faUge IR FABIRR &R G dl g TU1 did 4T 374 ¢ fhdl eI & Widd a1
3l DR bl g

C. 14 et & faerge 91 dier Gl §

I.A,B3IRC

2. Had A 3R B
3. HIdB AR C
4. H9d A and C

Options :

93806616577. 1
93806616578. 2
93806616579. 3
93806616580. 4

Sub-Section Number : 3
Sub-Section Id : 938066174
No

Question Shuffling Allowed :



Question Id : 9380664261 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

Read the following passage and answer the question:

Socio political vision of Dr. B.R Ambedkar can be summed up as social justice. According to
him, social justice is another term for liberty, equality and fraternity. These principles have been
derived from Gautama Buddha. Ambedkar may not be the first person to talk about social justice,
but has the distinction of making it applicable to Indian society. As the Indian society is featured
with graded inequalities, he successfully implied the social justice concept into it and clarified
that liberty, equality and fraternity is not a separate aspects of trinity. Dr. Ambedkar pleaded for
public spiritedness to build institutions and resolve conflict between equality and liberty. His
concept of social justice is firmly rooted in the synthesis of social equality involving freedom and
liberty with economic equality and human brotherhood based on a self-respect and dignity.
Reason and justice are the two powerful concepts used by him to understand the actions of state
and its institutions. The administrative efficiency is a function of social efficiency i.e., application
of the principles of social justice. The legitimacy of administration is to be drawn from the
practices of social justice. The state capacity for resource distribution and administrative capacity
for delivery of services is critical for social justice.

Sub questions

Question Number : 146 Question Id : 9380664262 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Dr. B. R. Ambedkar's concept of social justice principles have been derived from:

l. Gautama Buddha
2. Western thinkers
3. Experiences of social reformers
4. Representative Democracy
Options :
93806616581. 1
93806616582. 2
93806616583. 3
93806616584. 4

Question Number : 147 Question Id : 9380664263 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks :

As per the passage, according to Dr. B. R. Ambedkar, Indian Society featured with:

1. Economic inequalities
2. Lack of institutional capacities
3. Freedom with liberty
4. Graded inequalities
Options :
93806616585. 1
93806616586. 2
93806616587. 3
93806616588. 4



Question Number : 148 Question Id : 9380664264 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Dr. B. R. Ambedkar concept of social justice is firmly rooted in the :

A. Synthesis of social equality involving freedom and liberty

B. Political equality with political representation

C. Public spiritedness rooted in civil society

D. Economic equality and human brotherhood based on a self-respect and dignity
Choose the correct answer from the options given below:

1. A, B, and C Only
2. Aand B only
3. Aand C only
4. A and D only

Options :

93806616589. 1
93806616590. 2
93806616591. 3
93806616592. 4

Question Number : 149 Question Id : 9380664265 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Dr. B.R Ambedkar, is the basis to build institutions.

1. Establish equality
2. Facilitate social justice
3. Resolve conflict between equality and liberty
4. Resolve liberty and fraternity
Options :
93806616593. 1
93806616594. 2
93806616595. 3
93806616596. 4

Question Number : 150 Question Id : 9380664266 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Dr. B.R Ambedkar, the administrative efficiency is:

1. Function of social efficiency
2. Delivering public services
3. Following rules and norms
4. Constitutional morality
Options :
93806616597. 1
93806616598. 2
93806616599. 3
93806616600. 4



Question Id : 9380664261 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

Fafafed s ue ik vl & 3w difvme:

31 dl. 3R, 3dSH o YHIfSTdh sl-lidd SR bl Wi AR & =0 T Galfud fodr o
hdl g | b SR WA, M 3R S BT 3= A1 1o <91 g1 38 Rl
TIaH 95 9 U U U ¢ | SidgdHx YHTfSIh U/ & §R H €1d - dlcl UYH i ol o
AT 381+ SH URA YIS W Ugdll 9R N fhar| dfd YR qarel WiRd qararsd
Y [310d g, 35/H b ddyded Hriisid <A1g o hedl 39 UR AN &1 941 WY {dbar fb
A, G 3R §4d fhdl [ddba! 31y il & e Ugq el ol SI. 3ieSH o YU
3R WA & o GUN JHIUM B dY1 TYH 801 & T did UiaH1 W o 1§11 391
TS R &1 h el Dl Sg STE-FHEH 3R TRAT W SRT A Hida/ §4d 3R
3T TN Y WA Ud SSIG] DI ST S dred qrmieid g d a1 dfd 1 ffga
21 9y 3R 34 YRIH| &l SRAFU! Bl YHHH & (AU 39D gRI &l ATdd=Imel Gbed-rsil &
YW dd 3R U DI UGN {1 T € | URMHHS S&fdl, SIiisid Gl b1 H g 3Hlq
o <RI & T¥idl &l SFIUaRT | URITEH I a8l raifeid ORI & Hraiaral I Jg0 &l
STl g | STe faeRur & Tt Iy &l 3R 9aT el & feie U=iraiid &erdr, 9ot
TG & foU HEwyul ¢

Sub questions

Question Number : 146 Question Id : 9380664262 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
PR gRT AHISIH A1 Rigidl &1 Hhed-T dhgl d ol 715 52

RIIGL K

2. gyt s

3. TS YRG! & 3Hd
4. gfafiayul didda

Options :

93806616581. 1
93806616582. 2
93806616583. 3
93806616584. 4

Question Number : 147 Question Id : 9380664263 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TG & TR SAdSHR & Ad U URITT T o fa=rmarsit gRT Fefid g2

1. 3 THMAN
2. URJNT &HAT3H BT HHI

3. 3T o g1 WAl
4. TR EHMEA

Options :



93806616585. 1
93806616586. 2
93806616587. 3
93806616588. 4

Question Number : 148 Question Id : 9380664264 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SdSH DI YHAISTD AR DI Yhed-l DI ol 8149 Afd I fhgd [T g:

A. WA 3R HSIEY Gk I S Yo T &1 SRyl

B. YuiHIfdd UfdfAfed & Wy erifde YaHEdl

c. faf9a gramad # fAfgd i e

D. -G 3R TRAT W 141R 31fdd YT iR AR Uigd/ Sedl

1A fow T el & 98 SR

1. $dd A, B3R C
2. Had A 3R B
3. Had A 3R C
4. HAd AR D

Options :

93806616589. 1
93806616590. 2
93806616591. 3
93806616592. 4

Question Number : 149 Question Id : 9380664265 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

314l 3R, SfdSH b IR G FHd O BT 3AUR g

L. A RO AT

2. TSI =1 JRIMUT BT

3. U 3R WoAdl & sid Y9y GHY Bl
4. FCAT SR ST BT GHIYH DAl

Options :

93806616593. 1
93806616594. 2
93806616595. 3
93806616596. 4

Question Number : 150 Question Id : 9380664266 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ST dl. 3R, ISP D ATAR, AT q&fdl &:

L. GHEISId Gefdl &l hid

2. dih YTl UGH Al

3. g4l 3R AFDT BT SgUTa B3l
4. Faure Afdeda

Options :

93806616597. 1
93806616598. 2
93806616599. 3
93806616600. 4



